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����������� ��� ������ �� ��� ������������ �	 ��� ����� ����� �	 ��������� 
�
�� !������ �����" ��� �������
�� ������� ����� ���������� !#����$������ ������"�
�%�� �������� ���������� λmax �	 ������� ��������� ������� 	��� &���'� ������������ ��� �������� �
����������� �	 288K�
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�
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�
�
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 �
���
� �� �	
 ������
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�
�� ���
�� �	
 ���
� !����� �
���
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�� 
� �	
 ������	
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��� �	
 �
����
�� ����� ��!
���
 
��� �	
 ��� ����
�
��� ��� �	
 	
�	 ���
�� �� ����

�
����� 
� � �
���
!
 �
� ���
��
�� �!
� "���	 #��
��� $�
 �� �	
 ��� ���
�� �� ���
� 

��
��� ������ ���
 ���
��
�� �	�� ���� ������
�� ����
�
� �� �	
 �
���
���
�� �� ����

��
�� �� 	
�	 ���
���
� �	
 �
����
�� �
� ���
��
�� �
�
�
��
 �� 22.5W/m2 
� ����

� ��

�	
 ������	
�
 ���� ��
�� �� ���� �� �
��
��
 	
�� �� ���
�� 	
�� %&����'�( �� ��� 

����)� ����
� ��
� ����� �
�	 � �
� ������	
�
� ��
����
 ��������� ���� ��
�� �� ���� ��

40 · 103 km3/yr �	
�	 ����
������ �� ������ 3.2PW �� ���
�� 	
�� ������
�� *	
 �
��
���

������ �
�
�
��
� 
� �
� ���
��
�� ��
 �	
 ��
� ��
!
� �� ������	
�
� �����
��� +�	
�


�
��� �
(
 �
��	
���� 	
�� ,�� %∼ 0.027%) 
��
�����
���� ���� ����� �
�� ��� �	
����

���
��
�� ���� ����
 	�!
 �
��� 
����� ��� ��
 �	
�
�
�	 �
��
��
� 
� �	
 ������ ���
��
��

����
��

��� ����� �	 �
� �����

���

*� �������	 �	
 ������	
�
 
� �� ���
�!��� ��� �
�������� 	�!
 �� �
 ����� �	
�	 �����

��� �
���
��
�� �� �	
 ����
 �� �	
 ������	
�
� -
���� ���
 �
��
� �	
 �
��

 �� ��

���

fn �� ���
� 
� �	
��������
� 
.�
�
��
�� �� � �����
�� �� 
�!��!
� ��� ������
��� N ���

�	��
� P %�
.�
�� ���
�� ���
�) ������
�� �� �	
 ������
��/

fn = N − P + 2 %���)

0
��
 �	
 ������	
�
 
� �
�� ������
���
� �� � ���1������
�� %N = 2) ���
��� ����
�

%P = 1 �� ������) ����
� �� ��� �
� ��� ���
� !����� �	�
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�
��
�� !��
���
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���

��
����
 p �
��
�����
 T ��� ��
�
�� 	��
�
�� q) ��
 ��2�

�� �� �
��
 
�� �	
�����1
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� ����
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���
�� �
��

� ��
����
 ��� �
��
�����
 
� �
!
� �� �	
 �
�
��� ���


.���
��� #����
�� 
�
�� ���
� 
�
� �� 
��
����
�� �
��

� �	
 ��� ���
���
� 
� �������

��

p = ρ ·RM · T %��3)

�
�	 ρ �� �	
 �
��
�� �� �
�� *	
 �
�� RM  �	
 ��
�
�� ��� �������� 
� �	
 .���

�� �� �	
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�� ��� �������� R = 8314.459 J/(kmolK) ��� �	
 ����� ���� �� �	
 ���
��� ����
��

*	
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��� �����	
���
 ������ ��� ����� ��� ��� ������� �� Md = 28.9645 kg/kmol� �
� �����

���� Mw �� ����� ��	��� �� 18.0153 kg/kmol = 0.622 ·Md ��� �
� �	�
��
 ��� 
�������

�� ����� ��	��� ������� �� Rw = 461.5221 J/(kg K)�

�

������ �� �������� ���� � ��� ������� �� ������ �� �
� 	������ 	�������� pi �� �
�


��	����� ������ �������� 
������� ���	��������

p =
∑
i

pi =
∑
i

ρi ·RM,i · T ��� !

�

������ �� 	������� �����	������ �
� 	������� �� ����� ��� �� �
� ��� �� �
� 	������� pd

�� ��� ��� ��� �
� 	������� pw �� ����� ��	���� ������ "���� �� ����� ��	��� 	������� e�

p = pd + e ���#!

$� �
� ���� �� �
� ����� ��� ���� �
� �%������ �� ����� ��� ���� �����

p = ρ ·Rd · Tv ���&!

�
���

Tv =
T

(1 + 0.378 · e/p) ���'!

�� �
� ������� ���	������� �
�� ��� ��� ����� 
��� �������� �
� ���� 	������� ��� �������

�� ����� ���� $� ������ ��� ��� �� �
� ���(��� �%������ �� ����� ��� ����� ��� ����
 T � Tv!�

�
� ������ �� ����� ��	��� �� � ����� ������ �� ��� �� ������ �� �
� �	�
��
 
�������

q )�*"�+ �� �
� ����� �� �
� ������� ρw �� ����� ��	��� ��� ρ �
� ������� �� ����� ����

q =
ρw
ρ

=
0.622 · e

p− 0.378 · e ���,!

-�������� 
������� �� ��	������ �� ������� ��.����� ����� �
� ���� 
����� ������� ��

�������� 
������� rh [%]

rh =
e

E
���/!

�
��� E �� �
� ���������� ��	��� 	������� �� 
0�� �

������ �� 1-2 ��33,! E �� �
�

	������� �� ����� ��	��� �� � ����� �� ������� �%��������� ���
 � 	���� �����
� �� 	���

����� ��� �� ���� �		��������� �� �� ��	���
�� ���
���� �� ���	�������

E = 6.112 · e 17.62·t
243.12+t ����3!

/



������� �	 �����
� ���
������

���� ������	�
�� t �� ��
 ��
�
� 	�� ��
�
�� �	� �� �������� �� ����
�� �	��� �	��
�

�����
� ���� ���	���� �
������
 ���� �������� 
��� �� 	����
�� �
������ ah [g/m3]. ��

��� ���� �� ��� ���	� �	� �	� �� ��	�� 

ah =
e

Rw · Tv

!�
��"

�� ��	���� # �������
�� 	�� ��������� ����� 	���� ��� ��	�
���� �� �����
��$ ������	�
��

	�� ���	���� �
������ 	�� ��������� �� ��� ��	�� �� ��� 	���������


%������$ &	 �������� �����'�	���� �� ��� ��	�� �� ��� 	��������� ���
�� 	��� ����
�� ���

����	� �������
���� �� ����� �	��	����$ �
�� 	� ���
������$ 	�������$ 	�� �� ��$ ���	
�� ����

��(
���� ��� �	���)��	�� ���	���
� �� ��� 	���������
 �����
�� ��������	����$ ��	���	)

����$ 	�� �
��* 	�� (
+�� 	�� ��� ��	�� �	��	����$ ���� 	�� �����	���� ��������� ���� ���

��	�� �� ��� 	��������� 


, !-��+��� . /���$ ����$ �
 �0�"


����� �����	�� 
�� 
�����

	�� ���
���	
���

���
���� �������	��� ��
������
� !∂p = −gρ∂h" 	�� �����
�� p �� ���������� �� ��� ������

gρdh !��	���� 	������	���� g ����� �	�� ρdh" �� ��� �����	���� ���
�� �� 	��
 1�� ��	����	�

��	���� ��� ������� ρ �� ����	��� 
���� ��
�
2 �� ���	�� ��� �	��� ��
	���� ��� �	��������

������ ��	�
�������


∂p = − p · g
Rd · Tv

· ∂h !�
��"

3���� 	�� �� ���� ������������$ ��� ������� �� 	�� �	���� ���� �����
�� 	�� ������	�
��


�� ����� �� ����� ��
�
�� ��� �����
��$ �
����� 	��
������� 	�� ������	��
 1����$ ��	����

��	���� ���� �������� ���� ������$ ����� �� �� 	��
��� �� �� �����	�� ������ 	 ����	��

������ ������	�
 ��������� �� 4�	
� !����" g �	� �� ��������� 	� 	 �
������ �� �	���
�� ϕ

	�� ���������	� ������ h

g = geq · (1 + 0.00530244 · sin2ϕ+ 0.00000582 · sin22ϕ) · (1/(1 + h/RE)
2) !�
�0"

����� geq = 9.78032677m/s2 �� ��� ����	� ��	���� 	� ��� ��
	���
 � ���	���� �����	����

�� ��
�
�0 �� �������� �� �������+ �
�


5������$ ��� ����
	� ������	�
�� Tv �� ��
�
�� �� 	��
��� 	� �����	��$ ����� �� ��	���	���

��� ������ ��*������� 
� �� 200m ���� 	 �	+��
� �����
�� ����� �� 10Pa
 6��������

��
�
�� �	� �� ��'��� 	� ��� ������	� ������� �����
�� p0 	� 	�� ����� 7���$ �
�
 	� �	�����

��



�������� �	
 �	� �
��� �������� ����� p1 �����
�	� 
� 
�� �������	��

Rd · Tv

g
·

p1∫
p0

∂(ln p) =

p1∫
p0

∂h ������

��
�� �	
����
��	 �	
 �����	�
��	 �� 
�� 	�
���� ������
��� 
�� �������
��� ����
��	

���
�
Rd · Tv

g
ln

(
p0
p1

)
= h1 − h0 ���� �

��
� h1 − h0 �� 
�� �����
 
�!���	�� ��"��
�� 
�
����	�
 �� 
�� 
�!���	�� �	 �����
�	
���

�����
�� 
�� 
���#	��� �� 
�� �	
����	�	� ������ $�� �������
��� ����
��	 
�������� 
��

���	�� �	 �������� ��
� �����
 ����� �� ������
��	�� 
� 
�� ���	 ���
��� 
������
���

��
���	 ��
� ������� %� 
�� �������� �	
 
������
��� �� #	��	 �
 ������� ������ &����� 

��	 �� �����
 ��� �������� p1�

p1 = p0 · e
−g

Rd·Tv
·(h1−h0) ����'�

%	 ��	��
�� ��
�������� &�����' �� ���
 
� �����
� �������� ������ ��� 
�!���	
 �������

���� 
� ����
� ���(����� �������� ����� )�� �����
 
�!���	��� �� 
� 50m &�����' ��	 ��

���
��� ������*�
� ��� +,- ��../��

p1 = p0 ·
(
1 +

(h1 − h0)

29.2 · Tv

)
����0�

)�� ������ �����
 
�!���	��� 
�� ���
��� 
������
��� Tv �	 &�����' �����
 �� ��
���
 
�

���	 �����
 ���	� ����� ��
� Γ�

T̄v = Tv + Γ · (h1 − h0)

2
����/�

)��� �������
��	�� � �
�	
��
 �
�������� ����� ��
� Γ �� −6.5K/km ��� ���	 
�*	�
�

����
 ���� ��� ����� �� 
� 11 km ��
�
�
�� %	 ��	
���
 
�� �
����
�� ����� ��
� Γd� ���� 
��


������
��� ���
��	
 �� 
�� ��� ��
���
 �	� 
��	���� �� ���
 �� −9.8K/km� %
 �����
� ����


�� *��
 ��� �� 
�����
�	����� �	
 
�� ������
��	 �� ��
���
�
�� �����������

Γd =
g

cp
����1�

��
� �����
� g = 9.80665m/s2 �	
 
�� �����*� ���
 ������
� cp = 1003.5 kg m2/(s2 kg K)

�� 
�� ��� �
 0 �2 ������	� ��	�
�	
 ��������� $�� 
�!���	�� ��
���	 �	����	��	
�� �����

��



������� �	 �����
� ���
������

���� Γ ��� ��������	 
���� ���� �� 	�
��� �� ��� ��
���� �� 
����� ���� ��� ���� ���������

���	� ������ ������	���
� �� ���� ��� ���	��

������� ����	� 
��

��� 	�� ���
��	���� ����� �������

��� ������	�
 ����
 ����� ����� �� ���� � !"# �������� ��� �������
���	�
 ����������

�����
��� ��������
��� ���� ��������
��� 
���� ����� ���	��	 �
������ ��� ����� ����
�

��	����� ��	��� ��� ��� 
��� �������� ��� ����� $�� ���������� ���� ������� ���� ���

����� �� �����
� ���� �����
�� �����
���� ���� �%&'($������# �� ��� %
������ )�����

��� *���
�(&���� +������ ,���	���� �%)*+,# ��� ��� ������ �� �
���
 1� - 1� �����

�� ����� ���
�
 ��� ����(���
�
 ����������� ��� ����� ����
 �� � ���� �
��������� ��

���� �� �	�
�
 ����������� ���
� ��� �����	�
 ��������
�� �������
���� �� ����
��
�� $� ���

��

����� ����� �� 
��� �� 	����� �
���
 �����
��� ��������
�� ��� ����� ����
� �����
��

���� ��� �� ���

��� ��.����� �����-������� ������� 
���� %/���!0� ��� ���

�� �� ���

���

����� ��� �
�������� �� ���
� "�1�

������� ����	� 
��

��� �	



��� �������� �
���
 *��� 2
���	� �����
�� ��*2�# ������� ���� ����� �����
�� ��

��

�� 985.2hPa� ,��
�� ��� ����� ��� �������
���� �� � �
���
 ����� ,�� ��� 	���
������ ��

�*2� ��� ������� �����
�� ��
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� 	 ��	������� 
	��� �	

��

�	��� !�	����� ����"# $�� ����$% ����� �� ��	�	�������� 
� 	 �	���� �����	�� ������	����

������
����� 	�� ��������� 	��� 	� 	 
	����� 
������ �������� 
	�����

������ ���# &�'� '�	��	�� (��������� )*�+# (���	
 ��	� ������	���� �� ��� 
	��������
'�����# ,	

	�� - .�

� ��//+�

��� ����������� �� ��	�	�������� 
� 	� 	���	�� ������	���� 
	��� �	�� �� ∼ 6.5 �01"�

	�� ������	���� ��� 
���� 7 km �� 20 km �� ��� 	���������� ���� �� �� 	
�� �	

�� ���


���� 	���������� ,����� ���� 
	��� 	
��� 90% �� ���	
 	���������� �	�� 	�� 	
���

99% �� ��� �	��� �	���� 	�� 	�����
� 	�� ��������	��� �,	

	�� - .�

�� �//+�� ���

����������� �� ����	����� ����� ���� �� ��� ��	���� ��������	 
�"� �
����� �	��� �����

������	��� �� ������������� ����� �� ��� 
���� 	���������� '����� ������	
 ����� 	�� ���

��
	����
� ���� ��	� �	��� �	���� ������� �� 30 kg ��� 1m2 ����	�� 	��	 ��������� ���

����	���� �� �
������ 	�� ��������	���� ����	����� ��� ������	
 ��������� 	�� ����
�
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���� �� ����


�����
 �� ����
��� ����� ��� �
��������� ,����
�
 �� ��� �-../" ���� ��� ��������� �� ���
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� �����
�
�����
 �
����0����� ����" �� ������� �
�������� ������� ��� �(�
�����

��� ��

��������� �
����
� ��
��� �
�� 1$��2 
���
 333 ���� �4����
� ��� 4�
� ���-

* ���5"� ��� �
�������� �
����
� ��
��� ��
� �����
�� ���� ����
��� �
�������� �
��*

��
� ��
��� �� /5. �
���
 
��������� ��������� 6�
���� ���������� �� �� �� 60hPa ��
�

����� �� ��� ����
����� ��� ���*
�������� �� ���� ��������
�� ����� �
� #���� 
�&�
�

���������� ���� ��
��� ��
������
 �
������� �� �
�������� ������#� ,���&� �� ��� �-.�5"

���
���� 
���� ����
������ ���� �
�� -..� �� -.�/ ��� ����
��� ��� ������ ��
����
���

�� ��
���
� ��������
�� ��� 
�������� ��� �� ��� 7���� ������� 
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���
� �� ����
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�
 �(��
��
 ��
��� ��� ��
���
 �������� � �
���
*���� �
�������� �
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� ���
����

�� 2.16hPa%������� ���� ���� �
��� ���� �� ���
���� �� �
�����
 �
�������� ������ ���

� ���
��� �� ��� �
���������

��� ������ 
����� 
���
' ��� ��������	���' �������� ����� 10% �� ����
 ��������
�� ����

��� �� ����
��� �� �� ���
���� �� �����
���
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��� ��
����������� ��� ��
�������
� �� ��������

� ����
�' �
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� ���
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������������� �� ������ 	
 � ��
��� �������� �����
���
� �
������ 	������ 50 km ���

80 km ��� �� 100 km� ��������� �� �������� ��� ������� �	��� ��� ��
����� ��
��� �����

����� ��� ����� �������� ��� �
����� �� ���� ��
� �� ��� ������ ��������
�� ��� �
����


���� ���������� ��� 	����� �� ��
�� ���� ���
 ��������� ��� �
��� ���	�� ��
��������� ���

���
�� �� ���������� ���
����� ���� ������ ��� ���� �� �� ��� !���
�
 �� 60 km �� 80 km�

����	�� �� ��
����� ����� ��� ��������
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�
���� ���
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���

�����������
 ��� ���
����� ��� �������
����� �� �
�� �����
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��� �� ����	����� �� �� �����	� ��
����	��� ����� �� �������� ��� ���������� �� ��������	
�����


	��� 
��� ��� 	���������� ��	�� �	��	���� ���������� ������	����� ��������� ��� � ����

	���
� ��� ��	
� �� ��������	
����� ��
�	�� ��� ������
 ��� �����	� 	���������� !� ����

�������� ��� 
���	� ����"���	� 	�� ������	� ������������ �� ����	������� �� �����
�� �� ���	��

	 ���� ���������� 	���� ��� ���	��� ������	���� ������� �� ��������	
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��� �	��� �#�	����� 
���� �������� ��
�	� ����	
	���� 
��� ������ �� $%&' �� (� )�

*	�
���� +��
� 	� ��� ���� *	�
���,� �#�	����� �(	�+���� $--% �

∇ · E = �
ε
, ∇× E = −∂B

∂t

∇ · B = 0, ∇× B = μJ + με∂E
∂t

�.�$ 

��������
 �� �#�.�$ 	 �������� ���� E �� ������ �	���� �� �������� ��	�
�� �� �� 	 �	����


�	
����� ����� ��� �	��	�����	��� ∇ ��������� ��� �����
���� �� E� ��� �����
�� �� ���
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�������� ���� �	 �����
���� �
 ��� ����� ������ 	 ��� ��� �������� ���
�������
 ε �� ���

����������� 
����
�

�� ����� ��� 
������� ��� ���	��
 B �	 � �������� �� ��� ������ �� ��� �������� ���� E

����� E ��� B ��� ��������� B ��� �� ��	������ �
 ��� 
������� ���
�������
 μ �� ���

����������� 
����
 ��� ��� ������ �� ��� �������� ������� ���	��
 J = κ ·E� ���� κ �	 ���

�������� �����������
 �� ��� ����������� 
����
� �� ���� 	����� ���� �� � ��������������


���� ���� ��� ������� ��
�	������ ��� ����� ������ 	 ��� ��� �������� �����������
 κ ���

���� �������
���� �
  ����

!		�
��� ������ 	������ ��� ��
����� ��������� �� ε ��� μ� "#�$�% ��� �� ���������� &


��������� �'����� ()%%� ��� �#�������� 	����������� ������� ��*�������� �#������	 ��� ���

�������� ��� ��� 
������� ���� ��� ��������� ��	������� ��� ��� ����	 ��������� �	 ������

����	 ������� ���� 	�����

∇2E = με∂
2E
∂t2

∇2B = με∂
2B
∂t2

�$�(�

'�� ��	������ ���	� �������
 vp �� ��� �������
������� ���� �	 �����
���� �
 ��� 
����
�

��������� ���	����	 ε ��� μ�

vp =
1√
ε · μ �$�$�

�� �����
� ����� ε0 = 8.854187817 · 10−12 F/m ��� μ0 = 4π × 10−7H/m� ��� ���	�

�������
 ������	 �� vp = 299792458m/s� ���� ��� �������
������� ���� ���������	 ����

��� 	���� �� ������ !�������� �� +���	�� �%,,-� ��� ���	� �������
 �	 ��	� ������ �	 ���

����� ������� ��� ���	���� 	���� �� ����� c ��� � #������
 n ����� �	 ������ ��� ����� ��

����������� �� �����		�	 ��� ���������� ��� ��������� ���������	 �� ��� ������	�� 
����


vp =
ν

k
=

c

n
�$�.�

����� ν �	 ��� ���#����
 ��� k �	 ��� ���� ��
���� �� �����
 �	 n = 1� �� 
����� �	 n �= 1�

���� ��� 	����� �	 	����� �� ��	��� ���� ��� 	���� �� ������ ��������� �� ��� �������� ���


������� ���������	 �� ��� 
����
� �� ��� ������� ��
�	����� �	 1 < n < 1.0004� �����

��� ����� �� ���������� �	 ����� �������� �
 �����������
 N ����� 	����	 n �� ��������� ��/

N = (n− 1) · 106 �$�0�

������
 N �	 �����		�� �� 

1�
 ���
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((



��� ������	
� ��
�	��	
�

�� ������� �	�
�� 
�
��������
�
� �
��� ��
 ����
�
�
� �� ������� ���
���� �������
�
�
�

�� 
�� 
�
�
����� 
�
��� 	���
��� ����
� 	������� ��
 ������ �������� � = 6.626·10−34J ·s
�
���
� ��
 
�
��� �� � �
���
 	����� Eh �� ��
 ��
��
��� ν ������
�� ���

E� = � · ν � �!"
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σp σT σrh σe σK1 σK2 σK3

±0.3hPa ±0.2K ±3% ±0.52hPa ±0.0094K/hPa ±1.3K/hPa ±760K2/hPa
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∂N
∂T σT

∂N
∂p σp

∂N
∂e σe

∂N
∂K1

σK1
∂N
∂K2

σK2
∂N
∂K3

σK3 σN

±0.25 ppm ±0.08 ppm ±2.37 ppm ±0.03 ppm ±0.05 ppm ±0.09 ppm ±2.39 ppm
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���������� �p = 1013hPa, T = 15 ◦C, rh = 60% 
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��� �� ±2.39 ppm ����� ������� �� �� ��	������� ���

��	������ �
 ����� ±0.75%� �� 
�	 ��� ��	���� ������ �±2.37 ppm� �� 	������ �� ���
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���� ����	 ������	� ��������	�� ���������� ����	 ����	�������� ��� �� ��

±0.11 ppm �±0.03%� ����� �� 	����	 �����������
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#$% ��� ��������� ��������& ��� ��������&���������� "���� ���&

��������� �� ������ ��������� ������ ������� ��� �������������� ��� ������ 300 ppm� ����&

������ ���� ��� '������ "����� �������������� ������� 180 ppm� ��� ������� �� ��� ��������

������ ���� ��� �������� ������ �� '��� $���� '������ ��� ��� '���������

'������� ����� ������ ������
���� ���� 
� ������ 20% �� ������������ ��� ������� ���

������������ ���������� �� ���
�� ����� ��� ������ �� ����� �� ��� ��� ��� ������������ ������

120 ppm� ��� ������� ��� �������������� �� ���� ���� 130 ppm ��� �
������ �� ��� ��������� 
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���������� ����� ������ ���������� �� 20 �� 30 ppm� (� �������� ������ ������� �� �� ��
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����	 �	���# $� ���������� ���� �� ��� ���"����� �����	�� �� ������� ���	��  �� ��������

��� �� ��������� �� �����"����� ��	������ �������  ��� � ������� �� ��� 1min ��	���#

%���	� &#' ��� � �������� ������� �� 	��	��������  ����� ��� ������ ���	 ��	���� �� ����	"
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�� �� �� 12 ppm/min �	� ���������  ��� ��� ���� ������� �������� �� ��� /����"��������	�

���������� ���� ������ �� ��� 	���� ��������� �� ��� ���	� �� ���� ����#
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��� �� �����	���	� ��� ��������! ��	���� �����	����� ��� ������������ �	������� ��������

�� ��� �� �	� ������ �� ����� ��	 ��� ��	��� �	����������� ������# (����� �� ��� 
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����� ���� � ���� ��� �	� ���� �� ����	���� �� �����	����� �� ������ ��� ���� ������

2��� ����� �� ��� ����������!  ���� ��� �� ����	��� �� ���	� ������� �� 	��	��������# $

������ �� 	��	�������� �� ����� 20 ppm �	 ��	�  ����� � �������� �� ����� 20 km �� ������

��������� �� ��	��� ��	�����  ���� ��� ����	�  �����	# .��� ������� ��	�������� ����� ��

	��	�������� ��	������� ���� ��� �� ���� �� ���	����	��� ����� ���������# $ �����	 ������

�� �������� �	�� ��� �������� �� ��	����� 	��	�������� �	�����#
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N(H) = Ns · exp [λh · (H −Hs)] 
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 ��	� Ns �� ��� 	��	�������� �� ��	����! λh = −0.136 km−1 �� ��� ���	���� �����	! Hs �� ���

��	���� ������ ��� H ��� ������ �� ����	���#

$�����	! ��	� ������������� �����  �� �	������ �� +������ 
��7��  ���� ����	���� ���

	��	�������� �	���� �� � ���������� �������� �� ������! ����	����� ��	 ��� �	� ��� ���  ��

���������#

Nd = Nds ·
(
He

d −H

He
d

)μ
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Nw = Nws ·
(
He

w −H

He
w

)μ
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μ =
g

RdΓ
− 1. ������

�

����� 	
�	 g = 9.80665m/s2� Rd = 287.0569 J/(kg K� ��� 	������	��� ���
� ��	�

Γ = 0.0068K/m� μ �
 ������ �� ��	
 	���
� He
d ��� He

w �����
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 �� %��&��� �'()(�� 
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 �'(((��

He
d = 40.136 + 0.14872 · ts ����)�

He
w = 13.268− 0.09796 · ts ����+�
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�� �� ����
��� ��� ��������	�� �� ��� ������
 ������������ ��
��� ��
����	
� ��� 

�
����	�� �� �
����� !���� �� ��� ����		�	� �� ����� �����" ���� 
��
 ��� ��� ����
�����	

�� ��� �	����� ���
�� !Nds �	
 Nws"� #��	� ��� �	����� �������������� ���� �����������
 ��

��� �
���
�� �� ��� ��
����	
� ������ 
��	� $%�&��& �	
 $%�&��' �	
 �
�������
 ���� ���

��
����	
� ������� �� 
������	� 
�(���	��� ���� ������� �� ��� ������
 ��
��� #�� ��
�

�	
 ��
 �
���� �	 ���
�� &�� ���� ��� 
�(���	��� ��� ��� 
�� �	
 ��� �����	�	�� ������ 

������� )����
�� ��� ���� �
����� ���
�� ���� 
��
� ����� 
�������	� ���� ��� ��
����	
�

������� ��� �����
� ������� �����	 ��� ������ ������ �� ��� ����������� #�� ����� �	 
��

������������ �� 
���	���
 �� ��	
�� ������ 
	��� 5 km ����� ��� �
����� �	
 ����������

�(���� ����� ���� ������� 
�������	 �� ���
	
 ±5− 7 ppm� #���� 
���� ��� 
�������	� ���

��
��
 �� ��������
�� ��������	� 	��� ��� �������
�� ����� ��		�� �� 
�������
 ���� ��

� ��	���	� ����� ���� Γ�

*������������ ��� ����� �	 ��� ��� �����	�	� �� ���
� ����� ����� ������ !���
	
 ±15 −
18 ppm" ���	 ���� �� ��� 
�� ��
	�������� #�
�� ��� ������
 ��
��� ��
 ���� �
�����

����
����	��� �� ���� �
���
 ��� ��� �	������ �� ���� ������� ���	���	� �� �������
 �	

+�����	 &�'�,� #���� ������������ ��������	 �� ���	�� ����� ��� ��
�� ���
�����

�	 ��	����� ��� ���� �������� 
������
���	 �� ��� ������������ �� ���� 
�-�
�� �� ����
��

�����	 �	 ��������� ��
��� )� ����	 �	 ���
�� &�� �
����� ����
����	�� ���	� �����
�

������ �	�
-���	� �	��������	 ���
� ��� �������� 
������
���	 �� ��� ������������� ��	��

&. ����������	 �����
�� ��/� ��
�� ���
������	 !0������ �� ���� �11�" �� ��� �		�������

2*++ ���������� ����	�%
� ��	 �� � ���
���� ��
��� �� �	��������	 ��� ��� �	������ ��

�
���	� ������� ���
����	� �	
 ������� ��������� 3��� 
������ ��� �����
�
 �	 4������ 5�

��� �����	
�� 
� 
��� ��������
��

#�� ���� �� � ���	�� ����
�� ��� ���������� �� �(����
 �� ��������	� �	 �	
�� �� ���������	

!n"� #�� �����	�	� �� ��� ���
��	� n �����	
��
��� �� ��� ���� ��
��� ��� ���	�� �� ��

��	�� )��
��	� � ����������� ��������
 ���������� n �� ��		����
 ���� ��� $������ ��
�
�

r �	
 ��������	 �	��� ε �� �������6

n1 · r1 · cos (ε1) = n2 · r2 · cos (ε2) !&��7"

&8



������� �	 �
�������
����� ���� �����
����� �� ��� ������


����������

��������� 	� 
��� 
 ��		�� ������ 	�� �����	��� ������� ����� τ ������

τ1,2 = −
n2, ε2∫

n1, ε1

cot (ε)
dn

n
������

��������	 �� 	�� ��	��� ���	��� �����	���� 	�� ������ �� ����� � �� ���	��� ��	� �����	

��� �� ��	��� ����	�!�" #��� �� ����	�!��

dn
dr

> 0, dn
dr

= 0, dn
dr

< 0 ����$�

� ����	�!� �������	 ����� 	� � ����	�!� ���!�	��� � 	�� ��% ��	�" ���� 	�� ��% �� ���!��

�������" &���%&  ��' (��	��� ��� ���� )���!��" ��� 	� 	�� �	��	�*��	��� � 	�� �	'�������

	��� ���� �����'�% ������ �+����" �$$���

,� '��	 ����� 	�� �������	 �� ��	��� #��� �	��� ������� � 	�� �� 	�� �������% ��%�� � 

	�� �	'�������� �� ����	�!� ��	������ ������ ,� 	�� �	������ 	���������� �� dn/dr =

−40 ppm/km�

-������ �		��	��� ��� 	� �� ���� 	� ���'����� �� ��!� �������	���" ������ �% ����� ����	�!�

�������	�� , 	�� ���!�	��� � 	�� ������ �.���� 	�� ���!�	��� � 	�� (��	� �1/a�" �����

a �� 	�� ������ � 	�� (��	�" � ��% ��	� /	������/ �� 	�� �	'�������� 0��� 	��  ��������

����	��� ��  ��*����
n2 · r2 · cos (ε2)

n1 · r1 ≥ 1 ������

����� 	�� 	��' ε2 ��1��	� 	�� ����� � ����	��	���� 0�� �����	��� ��% ��	�� �� ����� ��


��� 
 ��		�� �����" �� �2��� 
% �����	��� � -������ ��� 	�� �������	�� �������	 � 

�� ���	�!�	% �� ��	����� �%
dn

dr
= −n2 ·

[
1

r2
+

ε22
2 · h

]
������

����� h �� 	�� 	�� �����	 � 	�� 	������� ��%��� , ε2 = 0" 	�� �������	 dn/dr  ������ 	�

−n/r2 ����� �� ����	 −157 ppm/km ���� ��� ����

,� ����� 	� ����	� % 	������� �!��	� '��� �����% � '���*�� �� ���	�!�	% M ��� ��*���� ,	

�� 	�� �%��	��	���� �� ���	�!�	% ����'��� � 1�	 (��	�� ,� ���� 	�� �������	 � M �dM/dr�

����'�� ����	�!�" 	�� ������ �� ������ 	����� (��	��� ��� ����

M(h) = N(h) +

(
h

r − h

)
· 106. ������

��



����� ��� ����� �	 
���
���� ���������� � �����	� ���������� λmax ������� �	 ����
���

��

λmax = 251.4 ·
(
N2 −N1

h
− 0.157

) 1
2

· 10−3 · h 3
2 ������

����  !
���� �"#$$� �����	�� ��� ���
������ �
 ���
��%��	�� �
��	 
�� �����	���� 	���	

�� &� ��� 
�
�� � ��'��
� ���������� ������� �
 λmax = 30 cm� (����
�� ��� ��	����
%

���� �
 �����	 �	 ���� ������ � ��
��������� �������� �
 −157 ppm/km 
� �� −420 ppm/km

��	 ��	����� �� ����� 	������� )�� ��	
����� ��'��
� 
���
���� �
 ���
������ 
�����	

�� 13%� *������� ��� �
���� �
 �����	 ������	�	 ������� ���� ��������� ����� ε2� (����

2� ����	� �� �����	 ����� �������� �������� ��
	 ���� ��	��������	 �� ���� ��� ���������

�����	 ���� 0� ��� ������� �� ���	 �����������

����� ����	
�� �
��

���

+� ������� ��� ���������� �
 ��������� 	�����	 �	 	���� �������� �� ��� 	���� �
 ����%

	������ ���������� +� ���	��
���� ��� ��������� �
 ��������� �����	 �	 ������ ���� ���

	����� ���,������ �	 ���� ��	������ �	 ���� �� ��� -�.���� ��
����� �	�� ������� /�0����

*������� ����� ��������	 �� ��
��������� ����� ���� �� �
������ ���	 �� ����������� �	��������

���� ��
��������� ���������	 ��� 	������ ��	������ +� 	
�� ��	�	 ��������� ���������	

��� �������� 1���%��������� ���������	 ��.� ��� �����%����������� ������ �2�� �� ����

03"�� �� ��� 4�� 	��������� ������ �4����
���� 033�� ���� �� �������� ���	� ����������	�

5�������� ��.� ��
	��� ���	 �� ������� ���	 �	 ��	������ �� ������
	 	������ ��� ������

��	�������� )�
	� ����%��������� ���������	 ������� ���� ��� ���� ��������� �� 67��

	����� �����		���� �	�������� 
�� 8���� 9��
������� �89�� ( �������� �������� ���
� ����%

��������� ���������	 
�� 89 �	 ����� �� 4����
��� �033���
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����� ���� �	�
������� ��	�
������ ��� ���� ������ 	��� �� ����� �� ��
�� ��� �����
����

��� ������
�� ������� �� �
��������� 
� ���� ����������

������ ������  ���
� �
�!����� "�������� ����� �
���������� ����������

�#� �� 1575.42MHz ���� �� ��� 	

� ����
� 	�� ����
��� �� 1227.60MHz ���� �� ��� 	

� ����
� 	�� ����
��� �� 1176.45MHz �� � ���

��� �� 1602 + 0.5625 · kMHz ���� � 	


��� �� 1246 + 0.4375 · kMHz ���� � 	


��� �� 1207.14MHz ���� � �� 	�� ��

�	�
� ��� ��� 	�� ���!��� "#$�	
 %
	�

�� &'�()	"( (' '(*�) �!�� "+"(�," ���!��� ,	-�" ."� '/ (*� �)�0.��&+ 1#2#"#'� �.



(#%
� �&&�"" ��1��� (�&*�#0.� 3*�)��+ �	&* "	(�

#(� �#���(#4�� �+ #(" &*	���
 �.,��)

k = −7, ... + 6� ()	�",#(" '� 	 "
#$*(
+ �#5�)��( /)�0.��&+� �*� (3' ,'��)� ���!���

"	(�

#(� (+%�" ��� 	�� ��� ".%%')( �'(*� (*� �1�� 	�� (*� 3#��
+ &',,'� �'�� 1#


2#"#'� �.
(#%
� �&&�"" ��1��� (�&*�#0.�� �	((�) #" &.))��(
+ 	2	#
	�
� /') (*� �� "#$�	
"

�.( 3#

 �� �6(����� (' (*� '(*�) /)�0.��&+ �	��" 3#(* (*� ��6( $���)	(#'� '/ ���!���

"	(�

#(�" �7)
#&*#&* �� ���� �8����

�*� �
�	�� 3	" "�
�&(�� /') �!�� ��&	."� #( %���()	(�" 	(,'"%*�)#& ()	&� $	"�"� #" )	#�


/	�� )�"#"(	�( 	�� (*�)�3#(* 3�

 ".#(�� /') &'�(#�.'." '%�)	(#'�"� �.)(*�) #( #" )�
	(#2�
+

�	"+ ()	&-�� �
�"" %'#�(#�$ '/ 	�(���	� 	�� ��((�) %)'&�""�� (*	� *#$* /)�0.��&+ �	(	

��$	9	� �8���� �� ('% '/ (*� &	))#�) "#$�	
 ���� ��� ���� &'��" 	)� ,'�.
	(�� 3*#&*

	

'3 /') "#$�	
 	&0.#"#(#'�� �*� �'	)"���&0.#"#(#'� &'�� ����� '� �� #" "(#

 (*� ,'"(

#,%')(	�( "#$�	
 /') ,	"" ,	)-�( 	%%
#&	(#'�"� �� �� '�
+ (*� ��&)+%(�� �
&'�� �:


&'��� 3	" 	2	#
	�
� .�(#
 ��� "	(�

#(� (+%� ���� �

 ."�)" 3#(*'.( -�'3
��$� '/ (*#"

&'�� *	� �' �#)�&( 	&&�"" (' (*� �� "#$�	
� �' '2�)&',� (*#" %)'�
�, &'��
�"" 	�� "�,#


&'��
�"" ()	&-#�$ (�&*�#0.�" ') *+�)#� 2�)"#'�" �"0.	)#�$� &)'""
&'))�
	(#'�� ;
()	&-#�$�

3�)� ��2�
'%��� "�� <'' ��888�� �*�"� (�&*�#0.�" 	

'3 (*� ()	&-#�$ '/ ��� �� �.( '�
+

3#(* "',� 
#,#(	(#'�" ���$� 
'3�) "#$�	

('
�'#"� )	(#'� �.( 3#

 ��&',� 
�"" #,%')(	�( #�

/.(.)� 3*�� (*� )�,	#�#�$ �� ��� ��� "	(�

#(�" 	)� )�%
	&�� �+ ,')� ,'��)� "	(�

#(�"

3*#&* %)'2#�� 	 ��3 &#2#
 &'�� '� ��� �.)(*�),')�� (*� ��� $���)	(#'� ()	�",#(" 	
)�	�+

	 &#2#
 "#$�	
 '� �� 3*#&* 	

'3" (*� 	&0.#"#(#'� '/ 	 (*#)� /)�0.��&+�

�*� �!�� )�&�#2�) *	" (*� ,	#� (	"- (' �#5�)��(#	(� ��(3��� (*� �#5�)��( ()	�",#((�)"�

(' &',%.(� %"�.�')	�$�" �#��� �#	"�� �"(#,	(�" '/ (*� ().� �#"(	�&� ��(3��� "	(�

#(�
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������� ���%� '�	� −25 �+ �	

60 �+ ���� �� �������" 	' ��	�� ±0.05hPa ��� � ���'� < 100 ppm/year
 !������� ������

������" ��'�� �	 ��� 	���	������ ���%�� 	' ��� 
������� ����	� �	����� �	 ��� ������� ������

���	 )�	�� �� 
������� ���%�� 	� ���	������ ���%��
 ��� 
������� �� ���	 	'��� ������� �	

���� ��� ����� 	� �� �%���� �����
 +	��	� ����	�� '	� �������	� ��� ��������� ��

,����	� �
�
 
 ,��� ������ ���� �	 �� ������� ���� ���� �' �	 ��'	�����	� ��	�� ���

�������	� ����	� �� 
�	����� ��	������ �� -�


��� ���	�
����� ����	�
� �� �������� ���� �"%�	������
 �	���� �������" ����	��

��� ��������� ������ �	 ����%�� �� ���
������� 	' �	��������	�� ���������� 	� ����������

��
��������
 ��� �	�� �����" ���� ����	� �� ��� 
�"���	������ ����	�
 � 
�"���	�����

��)� ��� ..�� �./. .��)��	��)� �� 0� �	������ 	' ��	 �����	������
 1�� �����	�����

�� �	����� ���� � ���� ����� 2��
 ��� ���� ����� ��� ��� ��� ���%�� �� ��� ���
�������

��3������ �T − TE� ������� �	�� �����	������
 4��� ��� 
�"���	����� '	����� ���

���
������� ��3������ ��� �� �	������� �	 ����� ��
	�� 
������� e

e = E(p, TE)− AP · p · (T − TE) ��
��

����� E �� ��� ��������	� ����� ��
	�� 
������� �� ���
������� TE� p �� ��� ��� 
������� ��

��� ��� �����	����� ��� AP �� ��� 
�"���	����� �	�5����� �4�1� ���$�
 ��� �

�	���

�� ���" ���� �

������� '	� ���
�������� ��	�� 0 �+
 6���� 
�"���	������ ��� ������"

�(��

�� ���� � ������ �	 %�������� �	�����	�� 	
�����	� ���	 ��	��� ��� '���7��% 
	���


��� ..�� �� �����" �� ��� �� ��� ��4., ����	�) �� �	�)��% �� ��� ���
������� ���%�

'�	� −15 �+ �	 40 �+ ���� �� �������" 	' ±1.3% �� �������� �������" �' rh < 90% ���

±2.3% �' rh > 90%


��� �����	
�� 
������ ������

8�������� 4������ �	���� �84�� �	����� 	��������	�� ����� �������� ��� ������� �����

	' ��� ���	�
���� ���� ��������� �	�
���� �	���� ����� 	� ��������� ���� 	' 
�"���� �	


������ ��� ���	�
����� ����� �� ��" '����� �
	�� ��� �	 ������ ��� ��%��� 	' �	�2�����
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 ����������� ������� ������� ������� �������� ����������� ���� ���

���� ����� ����� �� ��������� ����� �� �� ��� �� �������� ��������� �� ��� ����� �� ���� ��

����������
 ! ������������� �������� � ��� "#$ �� ����� �� %������� ��		&�


'��  ���� �(������� �� "#$� ������ ���������� �� ����������� ���� ��  � ������ �����������

����� ������� ��� �������� ��������������
 '��� ��� "#$ �� ������� �������������  � ���

������� ���	�
��	�
 '�� �������� ����������� �������� �������� ���� ������� �����������

���� �� )�� ����� ��� ��������� ����������
 *'�� ������ ��� ����������� ��� ���� ��������

��� ������������  ����� � ����� �������������� �� ���������� ���������� ��� ����� �+���

�� �����,����� -�� ��� ���� �������� ����������� �� ����.����� ��� �������� ����������
/

�!��������� �	
�� �
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'�� ������ ����� ������ ��� 	�	����
�� �� ������� ������� ���� ���� ���������� �������

������ ���� 0'�1�
 �"�!!� �	
2� �������� �� ��� "#$ ����
 3� �����4������ ��� ��,

��������  � � ���� ��������� � ��� �����
 3� ����������� ����� ��� ��������� �� �����

������������  � �� ,���� ���������� )���� �� ������� ��� ������� ������� ������ �� ����

������
 5������ ���������� ���� ����,���,����� �� ���� ���� ����������� ��� ���� ����,

����� ���� �������� ������ ��� ������� ����������� ��� ���� ���� ��������� ������� �� ���

"#$ �� ������� ��� ������4 ����������� ���������
 %����,����� ��������� ���� ��������

��� ������ �� ���������� ��� ����� ���������� ��� ��������� ������ �� �� � ����������� ��� ��

���������������� ���������
 5�� �4����� ���������� ������ ��� ��� ��������� ������������

 �� ������ ����� �������� �+��� �� ��� ����������� ����������� �� ����� �� ������ ����� ���,

����������� �������� ��������� ��� ��������
 3� ���� �����4� ���������� ������� �����

�� ��+���������  ������ ����� ������� ��� ���,����� ����������� ��� !�������� ��	
��


!������ ��������� ���� �� "#$ �� ���� ����������	�
 '�� �������� ����� �� ��� %�������

6��������� ��� �������� �����)������ ���� ��������� ���� ���� �4������� ��� �����������

���� "#$ ����� 
&&&� ��� ����� �� ��� ��	
��
 '�� � ���������� ���� ���  � �����������

������� ���� ��,���� � ���������� ��� ������,������� � ����������
 6������� ��	
7� �����

�� �������� � ��� ��� �������� ����������� �� 8����� 9�������� $������������� �:��


�������� ����������� � ���������� ���� �������� ����� ����������� �� ���� ���)��� ����

������, ���� ;1% ������� .����� ������ ����� ���� ��� ���� ���� ��� �������� ������


5�� ������������ <=, �� 7=,>�� �������� ����� ����������� �		2� ��� ���� �� ������ � ��,

(����� �� ����� ������ ���� )�� ��� ������ �� � ���������� ���  ��������� �����
 5������

�� �������� ��� � ���������� ���� ��� �������� ��� �������� ���������� ��� �����������

���������� ����������� ��� ��� ����� ��� ��������� �� ��� � ����������
 '�� ������ �� ���

�������� )��� �� ����� � ������  � ��� ������� �������� ���� � ���������� ���  ���������,

������� ��� ��� � ��������� �������
 '�� �����)������ �� ��������� �������� ��� ��� �4,
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��� �
��� ����
 ������� �������� ����
�� ��������� �
� ���� !"�	����� ���#$	������

�� 	��� �� �
� %������������� �&� '��������$�� 	�� (���)��
�* +%�'(, �� �	����� ��

��	���� �� �
� $��-�� �./ ����������$ �)���
 �� �0'1.� ���� �
� ������� ����� �� �
� ����
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���
��� �� ������� ���
 �
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��6�� �$-� ���� 
�� �4 �����
 �� �������� ����������� ����	 �����
�
 ����

��� ������	 
���
���	 ����

	�	��

/��4��
 �� ��"�������� ��� ��"�����  �� 6� ������� ���" "����7
�� ���� �����
�
 �� ���

��������� �"����� 6� ��"�
�����  ��
�������
$ /�

��� "� ��8��� �����"����
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���

��� 
�.��� �����
��� �� ����
 �� 6��.����

 ��"�������� Tb$ ��� 6��.����

 ��"�������� �


������� �� ��"�
����� ��"�������� T (s) ��� ����������� γ(s)

Tb = Tbg · e−op(∞) +

∞∫
0

T (s) · γ(s) · e−op(s)ds *�$�,

8���� Tbg �
 ��� 6� +.����� ��������� ��� op(s) �
 ��� ��� ��� ���" .����� �� ����� s �� ���

��"�
����� *9�.���� �� ���
 �%%�,$ :���
 ����������� γ(s) ��� ��� ��� op(s) ��� ���;��� �7

��������� 8�� � ����8
 ��� 
��������� �� ��� ����������  �����6�����
 ���" �)�.��
 8����

������ ��� ��;��� 8����$ ��������� ��

��� �����"����
 ��� �������� �� 
��� ��� ���;��� �

6���
$ 	6
��������
 ���� ��� 8���� ������ �6
������� ���� *22.235GHz �� 183.31GHz,

��� ���+�� �� �6
����� ��"�����$ 5��;��� ��
 ���� ��� �)�.�� �6
������� ���� *60GHz ��
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�����	�������	��	�� �� ����� �� ��	� �� 
�� ���� ���� �� ���	����	
�� ������� 
��	 
��

�������� ������	�
�� ����	� �	�� �� ���	 ��
�� < 5mm/h 
�� ������
� ������ ��������

�� ������� �� ����	� 20%�  
 ������ ���	 ��
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��� (�����
�  	� �������
��� )$����	� ��������� �������
�� #( �)$�� ��� $����

%&''�� �� �	 ��� �
 *	������
� �
 +		�����, #-������ �� ���� %&'.� �� �
 /01 )�
����

#2��	����	 �� ���� %&'.� �� �����
�	� �	 ��3���	
 ���		�	� ������ +	 ��	�
� �������
��	
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�� �������� �	 ���
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��� 0 � 2000m

� 200 � 250m �	 
�� ��	�� 
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� 10000m�
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��� � �
�����
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���
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������
��� ��	�� ����� ������ 
� ������ ������
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��� ������� ��
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�	 �������� �
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���� �!����� ��� ���� �
 ��
���� ����������� ������ ��� �����������

�����  �
� −90 �3 �
 60 �3 ���� � �������� ���
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 ±0.1K �� �
 ±0.5K �� 3hPa�

��� �
��� ����������! �� �������� �������! ��� �� �������� �! ��
�� ±5%	 ������! ���

���
� ��������� ���� ���������� ������������ ��� ��� �������� �� ������! ��
����� ����

±1hPa �������! &2σ� ������� 1080hPa ��� 100hPa ��� ±0.6hPa ��
�� �� �
 3hPa�
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����� ��� ��	
���
��� ����
��� ��� ����
�� ��
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��� �����


�� �	����� �
�
� ��	 ������	���� 	 ������ !" 
�
�#$ %�� ��������	� ��� ��	 	������������

�� �������	��� ��	����	 �� �	�� �	� �	�	�
 �� ���	� �� 	������	 ��� ����	 �� ����������� ��	

�	������� ��	����	 	������������ 	���� %�� ������	�& 	�	������ ��� ��	 '������ �	�%��(

�� %	���	� ���������
 ��	�	���	 ��	 ��	����	 �	����	� �� ��	 ���	 %�� 	���������	� ��

��� ���	� %	���	� ��������
 ��	 �	������� ��)	�	��	� �	�%		� ���	��	� ��� 	���������	�

��	����	 %	�	 ������	� %��� �	��	�� �� ������� �������	 ��� ������� �	���� ��)	�	��	


'� ����� ��� ��	 ������	���� 	 ������ ��	 ������� �	��	�����	 Tv %�� ������	� ����

�	����	� �	��	�����	 �� ���	 ����� " 
�
* ��� ���	�%���� �	���	� �� �	�� �	���� �����

" 
�
�+
 ��	�	���	 � �������� �	��	�����	 ����	 ���	 �� −6.5K/km %�� �����	�
 ��	

������� g �� �	�� �	���� ��� �	�� �������	 %�� �	���	� ���� " 
�
��


�� ����� ��� �',"� ���	� ��� ������ -... 	����� �� /�� ��� 0��	 �.�� %	�	 ������	�


1����	 2
� ���%� ��	 ��)	�	��	� �� ��	����	 !�	����	� ����� 	���������	�$ ��� �	�	��	�

������� �����& ��	� ��	 
��� �	� ���� �� /�� �.��


1����	 2
�3 4�	����	 	������������ 	���� �	���	� ���� �	����	�	��� �� �',"� �������
���-. �� "��	������& 5���	�����

1�� �������	� �����	� ���� 100 km !����( ����$ ��	 ���������� ��	 ������ 1hPa ��� ���

�	 �� �� 6hPa ��� ���	 ������� �������� !���	 ����$
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�� �������� �
� ���� ��� �������� ��������� ��� ����
��� ��� ���
 ������� �����

������ �
� ������ �� ��� ����
� ���� ����
��� &��
�� '�" 
��
���
�� �
� ���� ��� ��������

��������� �� �
������� �� �
� ��������� ������� ��������� (��
 ��� ���������� ��� �������

�����

&��
�� '�") �����
�� ������������� ����� �� �
������ �� ������� ��������� � ��� ����� ��
����� ��������� �
�� ���
 �������� ��� ������� �� �
� ���� 
���
� ����� ±100m

	
� ���� ������ ������� −2hPa ��� +2hPa� �
����� �
� ������� �������� 
�� ���� �����

������ �� �
� ���� ��� �������� ������ �
�� 250 km� ����� 250 km ������� ��������� �
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���� �� ���
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��� � �����+���� ������ �� �
� ������� �������� �� ������ �
�� 100 km� &��� �
� ��������

�����
�� ���
�� � ���������� ���� ��� ����
��� �
��
 ��������� �
� �������� �� ��������

��������� �� �������)

stddev(p) [hPa] = 0.60 [hPa] + 0.0068 · dist [km] !'�,%

-� ����� �� (.�'�, �
� �������� �����
�� ������������� ����� ��� �� ��������� /� ����� ��

���� �
� ������������� ����� ������� �
�� ±2hPa �� 95% �� �
� ������ �
� �������������
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 ������� �

 �����������
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� ��� �������� �
� � �
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��� ��� �������� �������
� �� ������
� 
� �	� �����
� 	���	� �� �������

������ ��!" #������� �$����
����
� ���
� �� ������
� 
� 	���	� �� ������� %	� 
���& �
��
	��	���	� �����
� ����� ��
��� �	�� 100 km

%	� 
��� �� ������ ��� ����� 
� �	� �����
� 	���	�� '���� 
� �	� �������� ����
�& �	�

�������� �� ()** ���� ��� 
� ���������� ���	 � ���� 
��� 
� 0.1hPa± 0.8hPa� %	���
�

����	�� �	� �����
� �������� �
� �	� �����
� 	���	� �� ������ 	�� � �����+���� ������ 
�

�	� ���������

�
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������ ±1hPa ��� ±5hPa ��� 

������� 
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�
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 �����	 �
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��	��


1/(1 + h/RE)
2 �� -.�/��! �� �������� 
�

(1− 3.14 · 10−7h)
< 0.3Pa

)
���� ������� gn ������� 
� -.�/��! 1− 2hPa
%���������� ������� 
� ������� ����������� 0.5− 2hPa �� �	� %�
����

0
������ ����������� 0− 60hPa 
��� �	� 1��������

%�
�� ��2" ������ 
� �	� �������� 
� �������� �������
� ��
� ������� �
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��� ����	� �� 13 km� ���� � ���� ���
�� �������� �� ���	�� 50m� ��� � ()$ 
����	��

���	�� ���� �����
������� �� "#$$ ���� 	���
 ��� ��
�������� ��	����� /��� $������ ��7�&2�

0��������� ��� ���� ��� �������� ���� 	���������� ���	�� ��� ������������ ���
�� ���� �����

����� ��� �������� ��������� ���� �������� ��� ������� �	�� ���� ���� ���� �� 5� 7� &1

��� &. � 8�9 ���� ���������� ��� �	����� �������� ����� ��� %*)$ �������� ���� ���

��������� ���� �� ����� �
����� �� �� � ()$ ���� ��� ��������� ������� �� �
���� � ������

�����
������� ������ ��� �

���� �� ��� ����	������� ���� �� ���� /�����	� 30min2�

+��
�� ���� 
�
� ���� ��� ������� �� �����
������� �� ����� �� ���	�� �����
������� �������

��� ��
�������� ��	����� ��� ���� 	��� ��� ���	����� �� ��� #(3 
����	�� ���	�� /����

%*)$ ���  + *,2 �� ��� "#$$ ����� ��������� 
��
�������� Φ� ���
����	�� T ���

�
����� �	������ q ��� ���� �� ��� ���� 
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Φ
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H =
gn ·RE · Zg
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SWD = ZWD ·mfw(ε) +mfg(ε) · [GN · cos(α) +GE · sin(α)] �*�+�
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ZHD =
0.0022768 · ps

1− 0.00266 · cos(2ϕ)− 0.28 · 10−6Hs

�
���

����� ps �� ���	��� ��������� ϕ �� �������� ��� Hs �� ��� 
���
������ ������ 
	 ��� ����

����� �� ���� 
	 ��� ����� ���
������� �������� �� �
� 
��� ��
 ���� 
� ���	��� �� ��

!�� ���
 
� �
��� �� ���� "��� ���
 � ���
�� ����
��� 	
� ��� �����������
� 
	 ZHD ��

����
��!��� "����!� ��� ��������  ����� ��� � ������� �
������ ���� ����������� ���

�������� ��
#��� ����� ��� #��� ���� 
	 $%�&�'( 	
� �
�������
� 
	  ������� ����
������

��	����� ��� �Nh� ��
#���

Nh = K1 · R
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ρ = ρd + ρw =
Md

R
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ZHD = 10−6

∞∫
H0

Nh · dH = 10−6

∞∑
H=0

Nh · dH �
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	 �!
�� 1 cm�� ���  ������� ���
����
� 
	 ��� 23$� ����

���� �����
� ,���'� ��� �
 !� 	������ ���������� �� ��� 	
��
���� �  ������� ���
����
� �dh)


	 100m �� ��
�
���� 4 #��� ���
����
�� ���� �� ��������� !� 3
�.�� �� ��� ��55'� ���

������ !�� �� �
� ��%����� ����� ��� ��-������ �� ZHD !������ 5m ��� 100m  �������

���
����
� �� ������� ���� 0.1mm ��� ��������� �������!���

"��  ������� ������
����
� ��� ������� 
�� ���� ������� 	
� ���� ����
�
�
����� ����������

6
� ��� �������� ��� ����
������ �%����
� ��� �7��
���� ���� ��������  ����� 	�
� ���

��
���� �������� �� ��� "���������� ��� �
������ 	
� ���� ������ �� �� !� ������ ������
8

����
� !������ ��� �����������  ����� �� �� �� ��9����� �������� �� ���� 6
� �����  ��
��

$%����� ��� ���� �����!� ��� �����  ��
�� �������� 	���
� λe ��� �
������ 	�
� �����

(&



������� �	 ���
����
���
� 
� ����� ��� ������

������ �������� ��	��� 
���� �
 �������
 �������� 	���	� i ��� i+ 1�

λe,i = (Hi+1 −Hi)/log

(
ei
ei+1

)
�����

����� ������
�
�� ����	������ �������
 ����� ���� �������� ��	��� ��
� ����������� 
��

����	 �� ����
������� ��� !� ��� 
�� ���
���	 ��
�
��
��� 
����
� ������
�
�� ������
���
�

���"	�� ����	� �� ������
��
�

#�
��� ���$ ZHD 
���� ������ ��� �
�
��� %�	��� �� ������� ���� &'()# *��
��� ����	
��
� ����
 
*� ��+����
 ����������� 
�� ����	 �� ����
������� ��� !� ��� ���
���	 ��
�,

��
���

-
 �
�
��� %�	��� ���� #�
��� ���� 
�� ���� ��� �
������ �����
��� �� ZHD ��
*��� ��
�

���������� �� 0.84mm ± 0.74mm� *�
� � ��.���� �+��
 �������� �� 3.5mm �� ��� ��

/��� !0�1� ����	�� ����	
� *��� ����� ��� �1 �
��� �
�
���� �� -��
��� *�
� � ���� ���

�
������ �����
��� �� 0.48mm± 0.71mm ��� � ��.���� �+��
 �� 3.6mm�

#��
��� ���	���� �� 
�� ��+������� ��
*��� ��
� ���������� �����	�� 
��
 ����	� 
��

���� ��
 �	�� 
�� �
������ �����
��� �� 	���
���,��������
� ���		��
 ���� *�� ��
����� ���

�
�
���� �� 2��
�,&��
 -��
��� ��� 
�� 	��
��
 ��� �
�
���� �� ���
�,)��
 -��
��� �
 ��
���
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���������	 
� �� ������� ���� ����� 
��������� ��� ������ ������� �� ������������� ������

�� �������� ��� ����������� ��� ���� �� ��
������� �� ��� ���������� ���� �����������

������������	

����
��� ����� ��� ���������� ��� ������ ������� ���� 1mm ���� ���������� ��� ��

������� �� ������ ����������	 ��� ������ �� ��� ������������ �� !"# ����� �� ���� �� ��

���������� �� $%& ���� ��� ���� �� ����'������� �������� 
�����	 (�� ������� �������� ���

ZHD ����
�� ���� �������� �������� ���� ����) *�	+	" ��� ���������� ���� ,$�� ����
��

ZTD� �� ������� ��� � ������ ����������� ����� ������	 ��� ��������) ZWD �� ����������

�� ������ ���� �� ����������� ������	

��� ��� ��		
�� 
����
��

-�������) �� *�	+	� ��� �������� ����������# ���� �� SWD �� �������� �� ����������) ���

ZWD ���� ������) ������� mfw(ε) ����� �������� ��� ���
�����'���������� �� ��� ���

�����	

SWD ≈ ZWD ·mfw(ε) �+	!#

&�����) ��������� ��.� ,&( �/0�� �� ���� "11+�#� ,2�"� �/0�� �� ���� "1�3# �� 4&(�

�/0�� �� ���� "11+�# ����� ��� ��� ����������� �� ����� ������� ��� ��� ������� ����� �����

�� ���
����� ��)�� �� ��������	 
� ��� ��������) ��� ����������� ������� �� ��� ����� ������)

��������� �� ��� ���
����� ��)��� ��� �������� �������� �� -������ �� ��������	 -� ���������

"5 ���'������) �����)� �6*� �������� ��
�� ���� ��� ������� ��� ��� ����������� ��

��������� ����� ��� ������ �� �������� ���
����� ��� �7����� ��)���	 ��� ������� ���'������

�� �� ����������� �� ��� $���� �� ��� �"1�"# "5 ���'������ ��.��) ������� ��������
���


��������� ���� �������	 5������ ��� ����������� ���� ��� ���������� �"1�+# ���'������

��� ���
���� �� ������� !	"	8	

5��) �� ��� �"1��# ������ ���� ��� ���������� ����� �� ���'������ ����� ����� ������ �� �����

0.2% �� ���� ��� 0.6%� �� �������� ��
������� ��������
���	 $� ���������� �
�������� ���

����� ��� SWD	 ����� �� ������� +	3 � ���������� ������� ,$�� ����
�� ��� ���'������

SWD� ��� ������� ���	

��� �������� ��� ����������) ������) �������� ������ ����) ���'������ ������ �� ��.��

���� &0���� �� ��� �"1�9#	 ����� ���� ��� ��� ������) �������� �� �
�������� ��� ��������

��� ������� �� �������:

�������� �� 	�
��� �
���� ��� ���������� ��� ��
������ �� ������ ��� ��� ���������� ��� ����
���
���������� ���� ����������� ��
������
� ��� �������� ����� �� ��
������
� ������

;3



������� �	 ���
����
���
� 
� ����� ��� ������

dSWD(ε) = SWDR(ε)− ZWDR ·mfw(ε) �����

���	� dSWD 
� ��� 	��
��
�� ����� ��� ����� �		�	 ��
��� �� 
��
��
��� ����
��� ZWDR


� ��� ���
�� ��� ����� ��� SWDR ��� ����� ��� ����� ��	
��� �� 	����	��
��� ε 
� ���

�
���
�� ����

�� ������
�� ������ mfw(ε) 
� ��� ��� ����
�� �����	 � ����
����� �	��

� !� �"#$� ��� % !& 	������
�����

'� ����	��� ��  (���	 �� ��� �$)&*�� ���	� �� ��
�
���� 	��	���
�
�� ��	
��
��� ��	� ����

�
��	�� ��	 ��� ����
���
�� �� 	����	���� ������ �&+ 	����	��
���� ��� �	����� 	���	����

������� ��� �� �� ��		����� ,	�� ��	 ��
�
������������ ��	
��
��� ��
�� �	� ��� ����	
���

�� ��� �������� ����
�� �
���
���� -���	�
�� �� �.��� �� ���
� 1 cm �� 15� ������
�� ���

��� ��� �� 
� �� 3 dm �� 2� ��
�� �� 
��	��
��� ���� !
�
	� ��/�� #���� �	� ��� ��0
�
�

��
�
������������ ��	
��
��� ����	��� �
��
� ��� �������� ��	
���

'� �	��	 �� 	��
�� ��� ��
�
������������ ��	
��
��� � ���� SWDR ��� ����
��� ��	

���� ������
�� ����� �� ���	��
�� ��� 	����	���� ������ �� ��� ��
�
�� �
	���
��� ��	�� 0�

�� 330� 
� /)��������� #���� ���� SWDR ��	� 
��	��
��� 
� 12���� �������	 �
�� ���

����
��� ��� ��������������� ����
�� �����	� mfw(ε) ��	 ��� ����
���
�� �� ����� ���

����� �
.�	����� dSWD(ε)� ��
��� �� 
��
��
��� ����
��� !
�
	� ��$ ����� ��� 	��
��
��

���� �
�� ��� ������	� ���
��
�� �� ��� dSWD�� ��	 �
��
��� ������
�� ������ ������� 2�

��� 15��

!
�
	� ��$3  ��� �
�� ��� ������	� ���
��
�� �� ��� �
.�	����� 
� SWD 4��5 �������
	����	��
�� ��� � ! �����6�� �"#$� ��	���� ��� % !& ���
��� ����
����� ��	 &/ ��������
�788 ����
��� 
� 9
��	
� ��	 ��� &�� ��  �� $)&/� )� �� &$ ��� &� :#;

9�� ����
�� �
���
��� ��	��	� ���� ��	 ������
�� ������ ����� &) � �
�� � ��		������
��

�
�� ��� ������	� ���
��
�� < 1mm� <���� &)� ����
������������ ��	
��
��� ������

��
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�
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������ ��� ��� �����
�� ������� ����	���



���	�������� ��	 ���� 	�� 
	������ �����	��� ��	 ��
� 	�� ���
 ������
�
 ��	� ������
�

��� �����	��� �����
 �� ������� ���� ������� ����	��� ��������	������
 	�� �����	����

���������� ������ 	�� 	�
	 ������� ������� ���� 
���
 	�� 
�����
	 ���

  �� ��
��	���

���
 ��� 
	������ �����	��� �	 5� �
 1.1 ± 1.1 cm ��� !��� 0.7 ± 1.1 cm ��� !" #� ���

0.3± 1.2 cm ��� ����� ��
���	�����


�� �������
�� 	� $������	 %#&��' ��� ��
� �����
�� 	�� ����������� �� !�� %0.7±2.4 cm

�	 5�' ��� ���� %0.3± 2.0 cm �	 5�' �	 ������ 
�	�
 � 
������ ����������� ��	� ��
���	 	�

���
 ��	 � 
������ 
	������ �����	��� ��
 ����� ��	����� ������� ���� ���(����	
 ����

�
�� ��� ��	������	�� ���� � ������ 2.0� ) 2.5� ���� 	� 	�� !*++ 
�	�
 �� ,�
	���


-�.��/01 �� ��� %#&�2' �����
�� 	�� �����	 �� 	�� ������� ����	���
 �� 	�� STD %�
�
 	��

�������� �3��	 �� �����
	�	�� ��� ��	 �����' �	 
����	�� !*++ 
�	�
 �� ,�
	���� 45���

6������� ��� !������
 ���� � ������ �� 	�� ���	�
 %��� ��� 7��� #&�8' !�� �������

� ZTD ���
 �� 1.2 ± 0.2mm ��� � 
	������ �����	��� �� 1.9 ± 0.3mm ��	� ��
���	 	� �

���� ��
�� ZTD


9�	�� ���
 ��� 
	������ �����	��� ��� 
������ 	��� �)���	�� ���� 	�� �������
�� ��

������ :
#
  �� ���
�� �
 	��	 ��
	 !*++ 
�	����	�
 ��� ��
���� �	 ������ �����	��� �����
�

�� ������� �	 ������ 35� �	 ��� ��	�	���

 +���� 	�� ��3������
 ��	���� 	�� �������

����	���
 ��� ���� 
����;���	 ����� 10�� ���� ������ 20% �� 	�� ��
����	���
 ��� �3��	��

�� ������� ����	��� ��3������

 �� ���
������� 	�� ��������� ������� ����	��� !��

�������
 
������ ��
��	
 �
 ���� ��� 	�� �����
�� 
	�	���
 �� 4��	��� <�����


��� �����	
�� �
����	��

=�	� � �������	��� ����	� < 60 km %+��>� �� ���� #&&?' �
 �5���	��� �
����	�� � ��	���

����� �3��	
  ��
 �
 ���	� ���������
���� 
���� 	�� �����
	 ���	 �� �5���	��� �
����	�� �


���
�� �� ����� �����	���
 �� ��	�� ������ ���

��� ��� ��� 	������	���
 ���	��� �����	���


�� ������ 
���� ��� ����	�� 	� ��3������
 �� 	����
������ �����	 %	�� 	����
����� �
 	���1��

�	 	�� ����	�� ��� 	������ �	 	�� ����
' ��� �����	���
 �� ��� ���

���
 ���	��� 
�	��
����;�

������	���
	�� ��� ��
� �� ����	�� 	� 	����������������� �3��	

 ����� �� ��� %#&�@' 
�����

	��	 �������	
 	��� 	� ����	 �� ����
�	� �����	��� 	� 	�� �����
	 	������ ����
����
� ���	���

	��
� 
����
 ��� ���� ��;���


 �� ����5��	�� �������	 ����� �
 �����
�� �� 4��� A B������ %�CC2' ��� �������� �
��

�� !*++ ��	� �����

��� ������
�	�
 ��� 	�� ��>�� ���	
 �� �5���	��� �
����	��
  ��

D2



������� �	 ���
����
���
� 
� ����� ��� ������

�������� �� 	
� 	��
��

���� 
�����	��� ��� ��� ���� �	�	����� 
������� �� 	
� ��	�����

	����� ���� ������� ����� ��� 	
� ���� ����� �������� 	
�	 �� 97% �� 	
� �����  ������	�

��� ������� 	
�� 2mm ��� 	
!� 
��� 	� �� �������� "�	
 ����#

$����	!��	��� �� ���� �������� � ����������	��� ��	"��� 
�����	�	�� ��� "�	 ���	���!�

	��� �� ��	 
�������# %���� 	
� ��	���	��  ������	 
�����	��� ��� !�!���� 	���	�� �� "�	

 ������	�# �� �����&!���� � ����� 
�����	�	�� ����� �� ��	���!��� �� '&#(#�#

�� ����� 	� ���
����	� ��� 
�����	�	�� �)��	� ��  ������	�� ����	����� 
�����	�	�� ������

��� �� � 
������� ��!��� �� �������	���# �� ���	��� *#(#� ��� (#� �	 "�� 
���	�� �!	 	
�	

%+'� ��	� ��� � 
������ ��!��� �� �	���

���� 
����!��# ,�!-� �� ��� ����(� ���!�	��	��

	
�	 	��
��

���� 
���.��	��  ������	� ��	���	�� ���� ���� ��	� ��� ������� ���� �/0

��	� ��� ��  ��� � ������	� ��
������� �� 
� 
 �����!	��� �/0 ��	� �� !���# 1����2���

����3� ��	���	��  ������	 
�����	��� ��� �  ����� ��	"��2 �� 415� �	�	���� !��� ����

	����� ������ 	
��! 
  ����� �
���	����� '60/7 ��	� "�	
 1� �
�	��� �����!	��� ��� 6h

	��
���� �����!	���# 7�� 	
� ���� ���� �����!	� ���� 
�����	�	��  ������	� �� 0.22mm

���8 0.86mm� �� ���	
���!	
 �����	��� ��� 0.12mm ���8 1.18mm� �� '��	�/��	 ������

	��� "��� ��	�����# �� �����&!���� 	
� �)��	 �� 
�����	�	��  ������	� �����	 �� �� ���	��#

7� !�� (#�9 %�����	�	�� ���
����	 �� �.��!	
�� ������	�� �� ��	����� �� ����	����� 
	
��! 
 '60/7 ��	� ��� �����	�� �����	��� ��� �.��!	
 �� ��� ��� �� :!�	���� ����
��������� ��	��# '
��
9 ��	 �� 0�� ����� �� $;6

7�� 	
� :!�	���� ���� ��	"��2 ����	����� 	
��! 
 %+'� 
����!�� ����� ��	� "�� �������

�!	 	� ��	������ 
�����	�	�� ������ ��� �����	�� �����	��� ��� �.��!	
 �� ���# 7� !�� (#�

�
�"� 	
� ���!�	�� 
�����	�	�� �.��!	
�� ������	�� ��� �� :!�	���� ���� �	�	���� ���

�����	�� �����	��� �� ��� "
����� � ���� 
�����	�	�� ����� ��� ���
 �����	��� �� �� ���

�
��
 "�� 
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�� ������ ������� �	� �� ��
	���� �� ������	� �	��� ���������
��� #0
�	��

6 "����� &33�'� .������ �	
��� A �� ����
 ��
� 
���� ��������
�

A = U · S · V T #��&%'

����� U #l, l' 	�� V T #m,m' 	�� ��
�����	� �	
������ .�� ������� �
 U 	�� V T 	�� 
��

����	����� ��

 	�� ����
 ������	� ���
��� �
 A� ������
������ 2	
��� S #l,m' �� 	 ��	���	�
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������� ��	 
��� m ���
���� 	�	�	��� ��	 ��	 ���
���� ����	� sk,k� ��� ���	� 	�	�	��� ��	

�	��� ���� ������� ��	 ��	��� ���	��	 �� ������	� �� �������

A+ = V · S−1 · UT ����� 

��	�	�! ���! ��	 ���"�	�� ���
���� 	�	�	��� �� S ��	 ��	�� #�	 ����� �	��		� ��	 ���
	��

��� ��	 �����	�� ���
���� ����	 �	
�	� ��	 $�������� ����	� κ(A)�

κ(A) =
|smax|
|smin| ����% 

& ����	 �� κ(A) �	�� � ����$��	� � �	��"$��������	� ������� ��	� ��	 �������� �� ����	�

���	������	 �� �	����	�	��� 	������ & ���
	 $�������� ����	� ����$��	� �� ���"$��������	�

�����	�� #�	 $�������� ����	� �� A $�� �	 ������	� �! �	
�	$���
 ���! ���
���� ���"

�	�� #��� �	$�����	 �� ���	�! '���� �� #���$��	� (��
���� )���	 *	$���������� �#()* 

�	$�����	 �+���	�� %��� �

#�	�	�! ��	 ���"$��������	� ������ A �� ����������	� �! � �	��	� $��������	� ������ Ã

�� ���	� ���'� ����	� ��,,, ��

	��	� slim = 2.8 km �� ���	����� ��� sk,k� ��	� ��� ���
����

����	� �����	� ���� sslim ��	 �	� �� �	���

��
��	 ���- .	��	�	������	 /"$���	 ��� 01(( ����
����! �	����
�� ������	� �! ����$��	�
���
���� ����	 �	$����������

������� ����	
� ���
�����

2� ���$��$	 �� ������� ���	����� ��� slim $�� �	 �	�	����	� ����
 ��	 /"$���	 �	$�����	

�+���	�� %��� � #�	�	���	 � �	� �� ��������� �� �	�	����	� ���� ���!��
 slim"����	�� ���

	�$� �������� ��	 ���� �� ��	 �	
������	� �������� �log ‖Nw‖2 �� �����	� �
����� ��	 ����

���



�� ��� ����	
��� 
log ‖A ·Nw − SWD‖2)� �� ���������� ��� ������ � ������� �������	

�
��� �� �������	� ������� ��� ������ �� ��� �
���� ���� ��� ����� �� �����
� �
����
���

	����� ��� ������� ���
�����

���
�� �� ����� � ���
��� ��� � ������� !"## ���������� ������� 
���� 	������ ���
� ���

	��� 
��	 �� ����� �� #������ $�%&� '�� ��	 	�� ��	������ ��� ������ ����� �� ��� ���
���

��	 ��������� ��� ������� ���
���� �� �������	 �� ������� slim = 0.032 km �� ��������	 ���

����
��� ���
��� '��� ����� ��� ��
�	 �� �������� �� ��� ������
���� ������� ��	 ������

������� ��� ��	�� ������ �� 	�������	 �� (�	��)
�* 
%++,&� '�� ���
��� ������)
� ��

������	 �� �
����� �������� �� ��	 ��� ������� ����
��� ���
� ��������	�

����� ����	
	� �
����������	


- ���� ����������	 ���
���� �� ��� ���
���������� ������� ��� �� ��
�	 �� 
'�.������

 /01& ����� ����� � �������� ���
���� ��� ��� ������������ �������

Nw,η = arg min
{‖A ·Nw − SWD‖22 + η2 ‖L(Nw0 −Nw)‖22

}

�� 1&

����� η �� �����	 ���
���������� ��������� �� '�.����� ������ ��	 Nw0 �� �� � ������

�������� �� Nw� '�� 2��*�2 �� ��� ���
���� �� 	����	 �� ��� ���� ‖L(Nw0 −Nw)‖2 ��	

��� 2��2 �� ��� ���� �� ��� ����	
�� ������ ‖A ·Nw − SWD‖2� '�� ���� ��� ��� �������

3)��� 1 �� �� ����� �� �� ����� �)
���� ������� 
��� #������ ��%�4� &� 3�	�� 
 /��& �����	

���� ������ L ��� �� �������	 �� �	������ ������ I� ���� �� �����)
���� ��� ���	�����

�
���� �� A �� �������	 �� �		��� � ����� �
������ �� ��� �	������ �� ������ A�

Ã = ATA+ η · I 
�� 4&

- �������� ���
���� ��� η ��� �� �������	 �� ����� �� #56 
��� ������
� �������&� '������

��� �������� �� 	������� ������ S ��� �������	 �� ��� ���7������ rk.k�

rk,k =
s2k,k

s2k,k + η

�� ,&

8� ��� '�.����� ������ �� 	����	 �� ����� �����

η =

{
1 for sk,k ≥ slim

0 for sk,k < slim

�� 0&

��� ���
����� ���
���� ��� �� ����������	 �� �������	 '#56 ���
�����

 + 
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50 km� ��� ��	�
�� ��
��� �	�
�� ������� 70m 	�� 885m� �� ����� �� �
���	�� 	 ��	�
��
�
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��� ����	�
�� 	�� 	�
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�
�( )��� ��� ����� 	���������

�	� �� �� �	�	�����
��� �
���� ��
�� ����* �	�	�����
�	�
�� #��$���& �� 	 ��
� �	�	�����+


�	�
�� �������� �
�� 	� 	��,�	�� 
�������	�
�� �����
�� # ������ -.//0 1	��
��� -./2&�


��� 	 �
�����
�	�
�� 
� ��� �	�������� ���	
� #3	�� 4  �	��� /556& 
� ����
��� ��� ��

�	� ��� ������ 
� �"!! ������	��(�

�� ��� ������
�� ��� ����* �	�	�����
�	�
�� 
� ����� 
��� ��� ��	�� 	���� ��� ���
���
� 
�

�
�
��� 
��� ������ ������ ��������� ���
� ������ ��
��� 	�� ��)��� �( ���
���
�	� �����
+

�	���� '�� ��� �(�����
� ���� �	�� �	�� ��$�� �
��
� ��� ��	�* ����	���� 
� '
���� 6�- 7�	�8

9:�6%� + %-�-%�� ���8 5�6%� + /9�-%�; �	� ��)��� �
�� 	 ������
�� �� 0.5� $ 0.5� ��
�� ��<����

	����$
�	���( ��� ��	� �"!! ��	�
�� �
��	���� =����� 4 �		�� #-..6& ��)��� ��
� 	�

��� ���
�	� ���
����	� �������
���

�� ����
�	� �
����
�� #1	��
��� -./2& ����� ��	� /% �	(��� ���	�	��� �( �$������
	� ��	�
��

����
�� ���� ������� ����	��� �� 	 ����� ������ �� ������ 	�� 	��� ����	��� �� �,�
�
��	��

��	�
��� ����� ��� �$������
	� ��	�
�� ������� ��� ��������
�� ������ �	� �������� 	�

�������

dh(i) = dh(0) · qih #6�/6&

����� qh 
� ��� ��+�	���� ������ �	���� # ������ -.//&� dh(0) 
� ��� ��
��� �
>������ �������

��� ������ ��� �	(��� 	�� dh(i) 
� ��� ��
��� �
>������ �� ��� ��������
�� �����

�������� 	
��� ��
������ �������� �
��� �
�������
 �	�

15 layers� dh(0) = 100� qh = 1.3�
layer1 = 50m

.� /..� -..� 2?.� %2:� :..� //.:� /%99� -.6-� -:..�
26.-� 95--� ?9?.� :%.?� ///-.� /9%?-

15 layers� dh(0) = 450� qh = 1.1�
layer1 = 225m

.� 9%.� 5..� /99.� /55.� -?2?� 22.:� 9.:?� 95.-�
%:9.� ?:2-� 65?-� 5/??� /.%2.� //55.� /2?2:

�	��� 6�/8 !������� ����
�	� ������	��( ������ 	�� ����������
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�ϕ1� λ1� h1� 	
 ��� ���� �������� ��� ��� �	���	���� �������	� ����� �ε� ��� ������� �α�

����� ����� ��� ��������� �� 	������� ���� 
	������ ��  ������!  �"��

#����
	�� ��� ������� ���������� 
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��������� ���� ��� ��	������� �		�������� �y� z) ���

��� �	�����	����� ������ �Θ� η� ��� �� �������

y1 = 0 �$�%&�

z1 = RG + h1 �$�'(�

η1 = 0 �$�'%�

θ1 = ε �$�''�

����� RG �� ��� �������� ������� �� ���)���� ����	!�����	� 	
 ��� *���� ������

RG =
a2 · b

(a · cosϕ1)2 + (b · sinϕ1)2
�$�'+�

���� a ��� b �� ��� ������!�� 	
 ��� ��
������ ������	�� ����� ,��-.��

/	� ����
��� ��� ��
�������� ��		���� ������)�� ��� ������� 	
 ��� ��!� �	���� �Pi� 	�

��� ��
 ���� ���� �	 �� ��0���� 1� ���� �	�	�����
 ����� ��� ��� ����������	� �	����

������� ��
 ��� �	!�� ���
����� #��� ��� �� ������ � �	� ��
�� 	� ��
 	
 ��� �������

���
���� 	
 ��� �	!�� �	���� 1� ���� 	
 �	� ��
��� *)�$�'. �	 $�'$ ��� �� �������
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 ��� �	�����	����� ��
 �	���� ����� ���

������	���� ������� 	
 ����� ��
��� ��� 2�	���

y2 = y1 + d1 · cos(ε) �$�'.�

z2 = z1 + d1 · sin(ε) �$�'"�

η2 = atan

(
y2
z2

)
�$�'3�

θ2 = acos

(
n1

n2

· cos (Θ1 + (η2 − η1)

)
�$�'$�

d1 = − (RG + h1) · sin(θ1) +
√
(RG + h2) 2 − (RG + h1)

2 · cos(θ1)2 �$�'-�
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 ��
��� n1 ��� n2 ��� ��� ����� �	 ��	������� �� ������ h1

��� h2� ���
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 ��� d1 �� �������� ������� ��� ��� ��
 
������ �� ���� �	 � ��������

���� ��� ���� n1

n2
��� �� ��� �� �1�� ���� ��� ��
�
��� �� ��������� ����
������ 	��� �������

�����
����� �����������

������ ��� !
������� ��������� �������� ���� 	�� ��� ����������� �	 ���������� ����� η

�� �������� �� ��� ��
 ��
��� ��� ������� �	 ��� ������������ 
����� ���� ��� ����� ���	���� ���

��"���� ��� ���� �� �� ���
���� #���� ������ ��� ���������� ��� ������
��� �����������

�������
� $������� �
������� �����������
 ��� 	�������� �������� �� ��������

tan(λ− λ1) =
sin(α)

cos(ϕ1) · cot(η − η1)− sin(ϕ1) · cos(α) %��&'(

����� λ �� ��� ��������� �	 ��� ����� ���	���� $������� η1 = 0 ��� ���������� ����� η

	������ �� 

η = acot

(
sin(α)

tan(λ− λ1) · cos(ϕ1)
+ tan(ϕ1) · cos(α)

)
%��)*(

�� ���� �	 �������� ϕ ��� 	������ 	�� η ����� 

η = atan

⎛
⎝tan

(
ϕ1−ϕ

2

) · sin( (α+ψ)
2

)
sin
(

(α−ψ)
2

)
⎞
⎠ %��)+(

����� ψ �� ��� ���
������ ����� �	 ��� ����� ������ ���� ��� ������ ���� $

�
��� ��� ���

�	 ����� �� 	������ �� 

ψ = asin

(
sin(α) · cos(ϕ1)

cos(ϕ)

)
%��)&(

+*�
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[−π

2
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�� ���
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#

h =

(
cos(ε)

cos(ε+ η)
− 1

)
·RG + h1  ����!
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 ��� ��
�� 0 < h < ht ��� ����� 
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�� ��� ����� ���� ��� �����
����� �ϕi�λi� �� ��� ��� ���� ��� ����
��� ��� ���� ��
���

����� i 
�
�� �	� �!" ��  �! ��� ��� �����#
�� ����
��� ��� ���
�
�� ϕi ��� ����
�
�� λi

ϕi = asin (sin (ϕ1) · cos (ηi − η1) + cos (ϕ1) · sin (ηi − η1) · cos (α)) � �$"�

λi = λ1 + atan

(
sin (α)

cot (ηi − η1) · cos (ϕ1)− sin (ϕ1) · cos (α)
)

� �$%�

#������ ϕi ��� λi ��� ������ 
� ��� �����
[−π

2
, π
2

]
��� [−π, π]� �������
����� &�� �
�������

di ���#��� �#� ������
�
�� ������ �����# ���� �	� �!'�

�����
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��� ���
�
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� ��� �� 
������� ��� ����� 
�

�����	
���� ��� ���������� ��� �� �������� &�� ������
�� ����� εt �� ��� ��� �� ��� ���

����� 
� ����
��� ���� ��� ���� ��� �� ��������
� ������ θt ��� ηt ��

εt = θt + ηt. � �$)�
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���� �������
�� ���� 
� �������� 
��
� εt − ε + gbend 
� ������� ���� � ���������
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�� ��,�� ��� ����
�� 
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gbend =
0.02 · exp ( −h

6000

)
tan(ε)
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#���� h 
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������ ��	
� ��
������� �� Nw ����� ������� ��������� ���� ��� ��������� ����������
���������  ����� ������ ���� 0 ppm �������� ���������� �������������� ������� !�����"�
��
������� ������� ���� ����� ��� ������ �� ��
����� �����"���� ���������� �� slim =
0.001 km2 #����$ ��� slim = 0.01 km2 #�����$

%� ������� ��� ������� �������� ���"���� � �������� ��������"��� ���� ���� ��� ���������"�

��������� &�� ��
������ ������� ���� ��������� �� ���'�� �� (
 �����"����� ����� ��� )���

�� ��� ������� ��� ���*)��� �� ��� ���������"� ��������� !������ �� ��� ������ ������

���� ����������� �� � ������ �� ���' �� ����� 3%� &��� ���������� ��� �������"� ���

���������� �������� �� ���� ������� �� ��� �����"���� ����������

+�����, �� ���� ��������� ��� ��������"��� �� �������������� �� ��� ����� ���������� ���

�"����������� �� ��� ������ ����������� &�� �-������� �� ���� �
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��� �� .�������

�"��. ��� ������ "�-�� ������ /���� ��� �����"���� ��������� �� � �����*�
 ������� ���*

������������ ��� .�"��*���������.� %� �����0����� �������������� ������0��� ��'� ��� 1*

���"� ������0�� ���� �� �������� ����� ���������� %� ���������� # ����, (
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N̂w = Nw0 + V · S−1 · UT · AT · P · (SWD − A ·Nw0) ��
�#�

$	���% U & V 	�� S 	�� ���	���� �� 
�����	� �	��� �������
����� �! �	���% AT ·P ·A+Pc&

'���� Pc ����	���
 ��� '�����
 !�� ������ Nw0
 (� ��� !����'��� ���
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Aext =

[
A

Ac

]
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���

SWDext =

[
SWD

Nw0

]
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���

Pext =

[
P

Pc

]
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�*�

'���� Ac �
 ��� ��
��� �	���% !�� Nw0
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�
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#
�
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�
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���	��
 �X̂� 	�� ��� �	��	���.���	��	��� �	���% �! ��� �
���	��
 �CovX̂X� !��� ���
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N̂w1 = V · S−1 · UT · AT · P · SWD ��
�/�

CovX̂X = V · S−1 · UT ��
���

'���� U & V 	�� S 	�� ���	���� �� 
�����	� �	��� �������
����� �! �	���% AT ·P ·A
 0��
��� 
����� �-�	�� 
������� ����& N̂w1 	�� CovX̂X 	�� ���������� ���� ��� ���	���� 
�
���
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N̂w = N̂w1 + V · S−1 · UT · AT
c · Pc ·

(
Nw0 − A0 · N̂w1

)
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�1�
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 �������� ����� ���	��	����	� 	� ������ AT
0 · P0 · A0 +

Cov−1

X̂X
. ���� �	����	� �� ������ �� ��� �	��	���� ��� ������� ���	���
� � �	������	� 	�
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� ����
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��	�� ��� ���	�� ��� 	� 	
�������	��� ���� � ���	�� ���	�����	� �� �������� �������� �� �����

������	� �
����� �� ���	�� �	� �������� �	�������	��� �	�� ����� ������ A �� ������� ���	

������� ������

 � 	���� �	 ��	� ��� ������ 	� � ���	�� ���	�����	� 	� ������	��� 	
�������	�� 	� ���

�	�	�����
 �	����	� �� ��� �	��	���� ����� �������	� ��� ������� ����
����  � ��� ����

��

���� �� �� ������� ���� ���� !�"" �����	� �� �������� ���� ����	�	�	����� ������#

����� �	� ��������� ����������� ��� ����� ���	�� ��������� ������	�� ��� �����������
 ��

������� ����� $��%�&' ��� ����	����� ���	 ��� ������	� �
���� �� �
�	���� �	��������� ��

������ (�&)* +	������	� 	� �	�	�����
 �	����	� ����	�� ,����- ��� ���� ������	���
��	���#
���� 	
�������	�� ,�����-

������ (�&) ��	�� �	� ���� ������	��� ���	�����	� ��.������ ��� �	�	�����
 �	����	��

 ���	������� ��� 	
������ �����������
 ���� ��	��� 
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 ��� �	������ ������
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� �� ��� �����	������ �� �������� �� ��� 	����� �� ���
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� ���� �� ������������� ����� ������������ ��� �������	�� ���� ��� ��������

������ �� 	����������� ����
�� �� ��� ������������ �������������

������ �� ! ����� ���� ��� ���������
 "���������� ������������" ���� � �����
	��� ����	�
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������ ��� �������� ���� �� ��� ����
� ���������� ����
� �������� ��
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�	�� ������	� ��� ������ � ������ �����	������ 
�
� ��� ����� �� ��� �������� ����

��� �� ����
��� 	���������� ���� ����
 �������� ������ �� % ����� ���� ��� ���������

�����	������ 
�
� ����
�� ���� ��� � ������ ����������� �� ������
 ����� ������ �����	����

����� ��� �������� ��� ����
� ���	� ��� ��� ��������� �� ��� ������������ &�	���� ��� �

������ ����������� ��
�� �� ����	� ������	�� 	����� �� �

����������� '��������� ���� ���
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� ���

 ������ ��� 
���� ���������	� �� �����
� �� ��� ��
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*���� �� ���� �	������ �
�� � ������
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����� ��� 	������� ����� +����%, ��� 	�������
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 ������� 	����
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������� ��	� 25.17 ppm �	 25.20 ppm
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�� � ������ ��� ������������������� ������� ���� ����������� ��������� �� ����� 	 ���

��������� 
����! P �� ��"��� �� #������

P = σ2
0 · Cov−1

ll $���%&

����� σ2
0 �� ��� � ������ �������� �# ��� ���� ������ ��� Covll �� ��� �������������������


����! � ������� '�� �������� ���
���� �# Covll ��� ��� ��������� σ2
n �# ��� �(����������

σ2
n = sin2ε · σ2

ZTD $��
)&

����� σ2
ZTD �� ��� �������� �# ��� �(���������� �� *����� ���������� �� ���� �# ���� �(����

������� ������+ ������ (������ 1mm2 ��� 100mm2 ��� ��������� ��� #������ ������� ���

σ2
ZTD ��� ��� �� 100mm2 ��� #�� ���� �(��������� σ2

ZTD ��� 
����� (+ sin(ε) ���� ���

��������� �# ��� ����������

,+ ��
������� �# ��� ��� ��������� $��� ����� ����& �����"���� ��-������� ����� (� �(�

������� '�� ������� �
���� �� ������� �� ��� �����������. ����� �������� ����� ����
��������

�� ������� �� 
����! AT · P · A� �� �����������. �# ��� ��
� ���������� ��������� �� ����

#�� (��� ���������. ��� ��� ��
� ��
(�� �# ����������� �� ���������� #�� ��� ���������

�� ����� �� ������ �����+ ��� �
���� �# ��� ��������� $��� ��� ��� ��/����� �# ��� ����������

���������& "��� ��� ���������� ��������� ��� �������� '����#��� ��� ���0 �# ��� ��������

��� ���� �� ��������� ��������� �� ���� �# ���� ��������� ��� ���0 �� 
�%� �#��� ����������

��������� ������� ���� ������� ��� ���0 ��������� ��  1%� �� ����� �� �(���� ��� ��
�

���0 �� #�� ��� ���������� �������� �� ���������� ��������� �# 0.0000055 km2 ��� �� (�

����� �#��� ������������ ���� ��� ����+ ��"��� ��������� ��� �
���� ������ (+ ����������

��������� ��������� ����� (� ����+����
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 ����� ��� ��������� ���������� ������� �������� ��� ���������� ��������� ��

��
� ����� ���������� �� �� �� 10 ppm ��� �������� ����� ������ ������ �� �����������

�� ������������ �� ��
� ����� ���� � ��������� �� ��� �������� ��� ���������  ������������

����� ��� �������� ��������� �� ��� ���������� ������� ����
���� ��� ��������� �����������

���� ��������� �������� �� 1%� ������������������� ��������� �� ������� �� ������� ���������

������� � ��	
�	 ����
��	�	�� ��	����

!������ �� "������ ��#�$�$ � �������� ���� � ������ �������������� ��� ��
������  ��

��� �������� �� ����
����� �� ����������� ���������� ������� ��� ��� � ������ ������������

%���� "���� �� �������� �����
����� ��� ��� !&!'( 
���� ����
����� ��� ���������� �

��������� 
���� ��� �� �� ��%���� "������ �� ��� )#**
+ �������� ���������������� �����

������ ��� ��������� ��
�������� ��� �����%� ��
����� �� ���
 �� �������� ����������� ,�

����� ����������� )��� "������ -�-�#+ ��� �������� ��������� �� ��� ������������ �� ��������

�� ��������

σNw =

[(
∂Nw

∂T
· σT

)2

+

(
∂N

∂q
· σq

)2

+

(
∂N

∂p
· σp

)2
] 1

2

)��.	+

�� �������� � ������ ��������� 
���� ��� ������ ����� ����
�� ���� �������� ���������

��������� �������� ���� �������������

σNw = 0.10 ·Nw )��.#+
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 �� h = 1 km ���!�� "�� # "$��� %��������� ���� ��� �������&��


������� �� ����
 ���� 
����� �� ��� � &����� �������������
 �� ��� ��
�� ����
&���� ����

��� ������������#��&������ ������ %� ������
� ��� ������������#��&������ ����� ���������


���� ��������� ���
��� ������������ ��!��
 �
&������� �� ��� ��
�� 3 km �� ��� ����
&����

��� ����
 &������� ��� ���� 
����� �� ��� � &����� �������������
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� ��*������� �������
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(A ·Nw − SWD)T · Cov−1

ll · (A ·Nw − SWD)
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(Nw −Nw0)

T · Cov−1
c · (Nw −Nw0)
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���
 ���������! ������������ ��� ���
 ����������� ���� i

σ̂2
0,i =

resTi · pi · resi
sum(ri)
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�� �
� ��0����� �������������
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� ����

���! �
� ���������� �� �������� ����� σ̂2
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pi =
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σ̂2
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	� �� ����"��	�� ������	��� �� 0.6� � 0.4� �� 
�� ��	�	����� ��� ���	���� �������� ���� 	��

�����	� �� 	��  ! ������ ���� ��#��� 
$ %&�'� ' ��	� 	�� ����	 ����
�	��� �� ������$

���� �� (���	�� ' �dh(0) = 450m� qh = 1.1�� ��� �����	��� ����� 
��������� ��� ���	�� ��

��
�� '� �

��� 	�
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��� �
���
����

��������� 	�� ����	 ��	 ����$� ���� ��������� ��	���	 � ������ �����
�	��� 
�	 ��	� ��)��*

��	 ���������� 	���������� ��� ��	�
�� ����� ��� �����	�� 
$ 
���� �� 	�� +*����� 	���*

��&�� ���� ,��	��� '� �-� �� .�������	 �� 	�� �
�����	��� ���
�	�$ 	�� ��	�
�� 	��������

������ 
�	���� 0.01 km2 ��� 0.1 km2� /� �����&����� 0.05 km2 ��� ��	 �� 	����*�) ���

	�� ��	��� �	��$ �������
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	� ������ �� ������
� �������
� �� ������� ����������� 	������ ��� ����	 �� ����
��

�� ��� ���� ! ��
�� ���� ������ �� ��� � ������ ��������
����� �
 ��� 	���� 1 km �� ���

���������� ����� 	������ 
�������
� �� ��� ��������
��� ��� �"������� ���� 	���� �
 ����	

�� ���		�� ��
�����
� ���� ��� � ������ ��������
��� ��	��

dNw stddev(dNw) max(dNw)

����
�� �� ��� ���� ! −0.33 ppm 1.45 ppm 7.32 ppm
0.10 ·Nw −0.48 ppm 2.11 ppm 9.97 ppm
#$% −0.33 ppm 1.59 ppm 7.75 ppm
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��� �
 ���	� &�� �	�� ��� χ2 �����������
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�	� �� 	�	�
� ����	��	� 
� +�� 	�	�
� �	� ���

��� �� ��
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�	 �	�
��� �

����	�	
�	
�		� + 0/1� ��� �+ ��� ��
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	� �� ������  �����	� �	����. +
� 
� 3
� �� ��� ��*+

0� ���
���
 '�!��	 *��+ ����� 
�	 �	���
��! !����� 
����� �	
�		� + ���� ��� �+ ���

��
	���
	�� ,�	 
� 
�	 ��$	�	�
 ����
�� ����	� ���� 
�	 ��
�	�� ����
��� ��� ���
����
���

���� ��� ����		
�� 
� ��

��	 �	��� ��� ��� ������� �� ��� ����
�� ��� ����		
��� �� ��

��	 �	��� ���

��� ��� ����
�� ��� ����		
��� �� ��

��	 �	��� ������

*4�



�� ������ ��	�
�� 
��� 	�
�
�� ���� ��� ��� ������
� 	���� �� ����	��
� ��� �����

��� ����

��� 
��� 	�� ����� ��� ������
 ��
�������� ��������� � �
���
 	������� 	��

�� ��������  ��� ������� ������� �� ������ ���� ��� !��� �� ��� ���� ������ ���	��

��� �
��  ��� ����������� ���� ���� ��� "�	�#	 �	��� ��� ���� ���� $���	�� !����� ���

������ 	�	
� �� #�� ���� ��� 
�%����� �� ������& ����� '() ��� ���& 
��� 
��� ���� 25min�

$���� '* ������ ��� ��� 
��� 
����� ���� 25min& �� �� ��� ����� !��
� ��� ���� �����

�� 
��� �+�	��� �� ��
����
 ���������& ��� ��	������ ���� �� ��� ��� ����� ������ �����

−10�,���� ���� ���� -����
��� i = 56� ��� a = 29600 km.� �� 	����/���	� ��� ��
���

��� �������� �� ������ 	������ �
����
� ���� ��
��

���� ��� �	
���	
	��� ��� ����	����� �������

0���� �� ��� ���
����	�
 ���
�������� � ������ �� ��/����
���� 	�� �� ��#���  ��	� ����

�� �� ��
#

�� ������ ��� ��������
 �� ��1 ��� ������� ��� ������
 ��
������� 	�� �� ��

�

���
����

� 2������
��� ������� �� ��/����� ��	��� ��� ��� �� ��� ����� 
�����

� ��� ���/���	� �� ��� ������� �����
 ����
� �

� 	��������� �����
 ��	������& ���

��������� ���
 ��� �	���
  ������ 	��������� ��� �� ��� ��
�������	 �����������

�����3 ��������
� �� 4����� -1−2GHz.& ������ -2−4GHz. �� 2����� -4−8GHz.�

� ��� ����������	 ��
�� ����
� �� ����	��
�& ������ �� ���
����/���	� ��	���/��� ��

����������	 
���
�� �� 	��� �� ����������	 
���
� ������ ���/���	� 
������
����

�� 2����� �� 5����� -18 − 27GHz. ��� ���������
� ���	� ��� ����������	 ��
�� ��


��� �������	�� �� ������ ���/���	��� -�� 5����� 
��� ���� 1m.�

� ����������

��� ����� 
������
���� ����
� �� ��������  ��� ���� ��
�
��� ���� -�������
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��� 	�� �� ������ ���	����� 
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����� ����
���� �� �������	�� ��������  ��� ������������ �6��
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��� ��
���  ����� � ��
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��� �����	 
����
� ����� 
�� �		������

��������� 	� 
�����
����� ����� 	�� �����
 �����	� g0 �� 	�� �

������ �	 �����	�� 
�	�	���

ϕ �� ������ �� ��

���

g0 =
a · geq · cos2ϕ+ b · gp · sin2ϕ√

a2 · cos2ϕ+ b2 · sin2ϕ

����

����� geq = 9.78032677m/s2 �� 	�� �����
 �����	� �	 	�� ����	��� gp = 9.83218637m/s2

�� 	�� �����
 �����	� �	 	�� ��
�� a ��� b ��� 	�� ���� ��!�� ��� ���� ����� �"�� ��

	�� �

������� ������	���
�� �������� #$�%& �

������ 
���� ��!�� �"�� a = 6378137m�

'�		����� fE = 0.003352811 ��� �����	� ��	�� m = 0.003449787� ��� (������� �))�� ���

�������� ������ ����� 	���� *����� �� ��

 �����"���	�� +�

g0 = geq · (1 + 0.00530244 · sin2ϕ+ 0.00000582 · sin22ϕ). 
����

,� ����� 	� �+	��� �����
 �����	� g �	 ��� �����	 h �+��� 	�� �

������� g0 �� �"������

��	� ������ �� 	���� �� h�

g = g0 +
∂g0
∂h

h+
1

2

∂2g0
∂h2

h2 + ... 
��-�

.� ��������
 �����"���	��� *����- �����

g = g0 ·
(
1− 2 · h

RE

+
3

a2
h2

)

��&�

��	� RE �� 	�� �/��	��� *��	� �������

RE = a/(1 + fE +m− 2 · fE · sin2 ϕ) 
��0�

,� ���� �� #$�%& ��� ϕ = 45� *���& ����
���� 	�

g = g0 − 0.308769 · hmGal 
��1�

�
�� 2���� �� 3���� ���3 ������	���� �������� 	�� 4������ �

������ 
a = 6378388m ���

��� fE = 1/297� ��� +� �������� 	�� ������ ����� 	��� 	�� ��

 2���� ��
�� �� −0.3086·h
�� �+	������
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g =
g0

(1 + h/RE)2
. �����

��� ��	�
�
�� ����� 
� g 
�����	�	  
�� ��
��� ��� ����
�	 
�		 ���� 1mGal ��� h < 55 km�

��� �����	
�� 
��� ������	
����

!� ����� �� 	���� ��� 
�������
�� ������� 
� �
"������� ��	�#�� ��	
���
	 � 	�� �� ���
#
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���� ��� () 	���
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� ��	��
�� ���
� ��) 	��#

���
	�	 ��� ��
� 	���
��	 ��� �
�	 �	�� ��� ��� �������
�� �� ��� �	��������� �*(+ *)�

��� ���	� ��	��'��
��	 �,(+ ,)��
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�� . ���� /(�(/�)/(0+ //1// # )012310/ $%& �
�� . 0/ 	��
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�
�� !$& ���
 ���
�	
&���
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��4 !$	 ���
 �
��4	 ��
�� �����

����� 5����
�� %��������	 !$& ���
 �5%	
&���
�� �����
����	 !�5�)//6 �����
����	+ ����
�����	����� ����
 ��� &��	����
��� 7 $%� 7 $8� 7 ) ��

��	�#9�	� ����
���	
!���	����� ����
 ����

-�	��'��
�� ��
	�+ 8�
�
���� ����

���
� ��)1 &���
��	 ��� ��� 	
��
��
�� �� $%& ��	��'��
��	 �	
�� 	��� ��� ���4��� :����	�
'2�) �$%&&!8�

��� �����	����
� ��
��  �	 �������� �� ����	 �� ��� ��

� 
�� �����
��

ZTD = 0.002277 · sec(90�#ε� · [p+ (1255/T + 0.05) · e− 1.16 · tan2(90� − ε)
]

���6�

 ������  ���� '����� ���		��� e  �	 	�� �� ;��� ��� �
�'��
�� ���
� ε �� 3/�� %��		��� p

��� ����������� T �� ���� 	���
��  �	 �������� �� ����	 �� $%� �:<�� �� ���+ )//���
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���� �
 ���	 � �����	� ������ �� ����	 �� �������  �� �!!����"  ������

GE  �� ��� �� 2mm �	� GN �� 0mm" ���� �	�� � ����#$��� ������	� �� ���%
���

��� ����� �	
���� ��

������

&�� ����� ��%���� ��'%��
�	� (�	 �� �!!���� �� ����������	� �
 ���� ��� 	��
���� ���#

����%���" ���� 
��� �
 ����� ������ �� �����
���( �)�(��� *%�����" ��� ��	��� �������	 ��� ��	

��� %	+	� 	� �	� ��� ����������	� ��� �� �� (����(��� +	� 	� ,
 ����� (�	�����	� ���


%�-����" ��� ��	��� ��� ��	�������� �����
 �
 ����������	 ��%����	� �� ��-	�� ��

Res = A · δx̂− l �.���

 ���� l �� ��� ��(��� �
 ���%(�� ����������	�" δx̂ �� ��� ��(��� �
 ��� ��'%���� (����(���	�

�� ��� %	+	� 	� x" 
����/ A �� ��� ��#(����� �����	 
����/ �	� Res �� ��� ��(��� �


����������	 �����%����

,	 (��� �
 0122" ��� ����������	 ��%����	� ������� �	� ���� ���(���� ��� 
%	(���	�� �������	

��� ��	 ����������	� �	� %	+	� 	�� 2�	(� ��� ����������	 ��%����	� ��� 	�� ��	���" ����

���� �� �� ��	������� ���%	� � !��	� �
 �!!��/�
����	 %��	� � &����� ������ �/!�	���	

�
%	(���	 L(x) " �	� %	+	� 	 x�3

L(x) = L(x0) +
∂L(x)

∂x
· (x− x0) + ... �.��4�

&�� 5���#����� ���
 L(x0) �� �	 �!!��/�
����	 �
 L(x)"  ������ ��� %	+	� 	 ��� ���	

��!��(�� �� �	 � !����� ���%� x0� &�� -���#����� ���
 ���(����� ��� ���!� �
 ��� ��	#

������� 
%	(���	� ,� ���%��� 
��
 ��� ��������	 �
 L(x)  ��� ���!�(� �� x" 
%���!���� ��

��� (����(���	 δx = x − x0� &�� ��(�	� �	� ������#����� ���
� �
 ��� &����� �/!�	���	

��� 	�	#��	���" ��	(� 
�� ��� !%�!��� �
 ��'%��
�	� ���� ��� 	����(���� &�� ���%���	�

��	������� 
���� 
�� �	� ����������	 �	� j %	+	� 	� �����3

Res = L(x0) +
∑
j

∂L(x)

∂xj

· δxj − L(x) �.����

 ���� l = L(x)− L(x0) ��-	�� ��� ��(��� �
 ���%(�� ����������	��

,	 (��� �
 ���!��!����( !���
����� ��� !������ ��������	� �
 L(x)  ��� ���!�(� �� ���

%	+	� 	� �ZWD, GE" GN� �� !��(�# ��� ��	��� �)��� 
%	(���	 ��� ��-	�� �� 
���� �

∂L(x)

∂ZWD
= γ ·mfw �.����
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∂L(x)

∂GE

= γ · ∂mfg
∂z

· sin(α) ������

∂L(x)

∂GN

= γ · ∂mfg
∂z

· cos(α) ������

�	
�
 z �
 �	
 �
���	 ����
� α �
 �	
 ������	 ����
 ��� γ �
��
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 ���
�� �������� ���	 �

�
�� �� �	
 �������
 �xi ��� xi+1� �� 
���	 i ��� i+1�

� �������� �	
 ����
 �� t �� ti < t < ti+1 �	
 ������� �
�������

 �� �	
 ��
�
���

 ���
��

�!

� �������� �
��

γi = 1− t− ti
Δt

����"�

γi+1 =
t− ti
Δt

����#�

�	
�
$ Δt = ti+1 − ti �
%�
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A =
[

∂L(x)
∂ZWDi

∂L(x)
∂ZWDi+1

∂L(x)
∂GE,i

∂L(x)
∂GE,i+1

∂L(x)
∂GN,i

∂L(x)
∂GN,i+1

]
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[
ResT ·Res

]→ min ����/�

&	�
 ��������� �
 ���%��
� �	
� x̂ �
 �
�
����
� �
 ������
(

x̂ = x0 + δx̂ = x0 +
(
AT · A)−1 · AT · l ����0�
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�
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toe ���� �� ������	�
 sec �� ��
 ����

tk ���� ����	���� �� toe sec
a 
��������	 ���
 m
M ���� ������� rad

e ������	����� � �
ω �	 !���� �� ��	� �� rad

i "���������� �� �� rad
Ω #� �� �
���
��� rad

dn $�		������ ��	 ���� ������ � �

Ω̇ #��� �� ���� � �� 	� �� �
���
��� rad

i̇ #��� �� ���� � �� ����������� rad

Cus% Cuc $�		������ ��	�
 ��	 ��� �	 !���� �� �����!�� rad

Cis% Cic $�		������ ��	�
 ��	 ��� ����������� rad

Crs% Crc $�		������ ��	�
 ��	 ��� �	&�� 	���!
 m

��&���� �'() *+�	+��� �&�!� ��� ���!� ���� 	�,!�	�� ��	 ��� ����!������ �� 
��������
��
�����
 �	�� ��
 &	�����
� ������	���


��� ��	�����	 tk = t− toe ��
�	�&�
 ��� ���� ����	���� &������ ��� ���� �� ����	�
� t ���

��� ���� �� ������	�
 toe' -!	�� ���
 ��	��� ��� 
�������� ��+�
 �!	���	 �� �	&��% ��!
 ���

���� ������� Mk ��
 �� &� ��		����� �
 ������


Mk = M + n · tk .�'/01

���	� n �
 ��� ���� ������ ���� GM = 3.986005m3/s2 �
 ���  ������	��  	�+���������

���
����'

n =
√
GM/a3 + dn .�'/21

��� ������	�� ������� Ek �
 ����!��� ���	���+��� !
�� ��� �������� �,!�����'

Ek = Mk + e · sinMk .�'//1

Ek �
 ������ ��	 ����!������ �� ��� �	!� ������� νk'

vk = 2 · atan
(√

1 + e

1− e
· tan Ek

2

)
.�'/31
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��� ������	
 �� 
�
�
��� Φk ��

��� 
�

Φk = vk + ω ������

��� 
� ���
����
��	� ����
��	 ������
��	� ���� 
� �� ���
��� ��� 
�
�
��� �δuk�� ������

�δrk� �	� �	�
�	�
��	 �δik��

δuk = Cuc · cos2Φk + Cussin2Φk ������

δrk = Crc · cos2Φk + Crssin2Φk ������

δik = Cic · cos2Φk + Cissin2Φk ���� �

��� ������
�� ������	
 �� 
�
�
��� uk� ����
 ������ rk �	� �	�
�	�
��	 ik ����!

uk = Φk + δuk ����"�

rk = a · (1− e · cosEk) + δrk ����#�

ik = i+ i · tk + δik ���$%�

��� ��
�

�
� ����
��	 �	 
�� ����
�
 �
�	� �x
′
k� y

′
k� ��

��� 
�!

x
′
k = rk · cos uk ���$&�

x
′
k = rk · sin uk ���$��

'	 ����� 
� ��
��	 
�� ����
��	 ���
�� Xs = [xk, yk, zk] �	 ()(* ������	�
��� 
�� ����


����
��	 ���
�� ��� 
� �� ������
�� ��� (��
� ��
�
��	 Ωk �	� ��
�
�� �	
� 
�� �+��
����


�
�	��

xk = x
′
k · cos Ωk − y

′
k · sin Ωk · cos ik ���$$�

yk = x
′
k · sin Ωk + y

′
k · cos Ωk · cos ik ���$��

zk = y
′
k · sin ik ���$��

��
�

Ωk = Ω+ (Ω̇ − Ω̇e) · tk − Ω̇e · toe ���$��

����� Ω̇e = 7.2921151467 · 10−5rad/s �� 
�� (��
� ��
�
��	 ��
��

& %
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��

��� �������� r 
������ ������ ��� ��������� �� ��������

r =
√
x2
k + y2k ������

��� ������� �������� β �� �
�	���� ����������� 
� ����� ��� 
� ��� �
��
��� �!����
�

β = atan (m+ n · sin β) ����"�

����

β̃ = atan
(zk
r

)
, ����#�

m = b·zk
a·r and n = a2−b2

a·r ���$%�

&��� ���� a ��� b ��	��� 
� ��� �������� ��������� ����	�
�� ��� � '(&"$�� ��� �����	
����

�������� ϕs) �
� ����� λs ��� ��� �� hs �
��
� �
*

ϕs = atan
(a
b
· tan β

)
���$+�

λs = atan2

(
yk
xk

)
���$,�

hs =
zk

sinϕs
−
(
1− a2 − b2

a2

)
·
(

a√
1− e · sin2ϕs

)
���$��

-�
� ��� ��������� 	
����
� ����
� Xs ��� � ���� 	
����
� ����
� Xr ���
 ��� ���
�����

����� ��� ������� ��� 
� �
�	���� ����� ����� ��� ��������� �� 

������� ������
��

��� �������
� ����
� Rs
r = Xs −Xr �� ������
���� ���
 ��� �
��� �

������� �������

rsr =

⎡
⎢⎣ rx

ry

rz

⎤
⎥⎦ =

⎡
⎢⎣ −sin λr cos λr 0

−sinϕr · cos λr −sinϕr · sin λr cos ϕr

cos ϕr · cos λr cos ϕr · sin λr sin λr

⎤
⎥⎦ ·Rs

r ���$$�

����� λr ��� ϕr ��� ��� ����	�
���� �

�������� 
� ��� ���� 	
����
�� -������ �������
� �� ��

ε ��� ������� α �
��
�� �
*

ε = asin

(
rz√

r2x+r2y+r2z

)
and α = atan2

(
rx
ry

)
���$.�
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�*+,- �.�/ �,,012304*, 5336407*8-2 39 2-,-58-4 ��'�� 208-2: ;<-6- "=208- 02 8<- 368<3�-�
8605 <-0><8 39 8<- 208- *74 "=+*63 39 8<- 16-22?6- 2-7236: 6-21-580@-,A
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